
 
 

AUTOMATIC TENSIONERS TYPE RH 
 

Automatic tensioners type RH-RHP-RHR are automatic devices which allow you to keep the right chain drive tension so it can last longer. 
 
In addition they recover the stretching that the chain has little by little during its functioning so you can avoid noises and vibrations caused by its 
slackening. 
 
 These automatic tensioners do not need the intervention of any workers so you can save time for the maintenance and for the control of the 
machineries on which they are  set up. 
 
These automatic tensioners are particular for the following elements :  

- In both sense of rotation you need a tension angle of 30°. 
- There aren’t plastic materials so you can rich a temperature of 80°C  
( Type RHP with a polyethylene 1000 head can resist  a temperature of max 65°C.) 
- The internal elastic elements, made of special steel with a very high yielding limit and with a starting pre-tensioning, allow you 

to get a pressure excursion as much steady as possible. 
- You can set them up very easily as they can be fixed to the machinery  with external or internal screws, and they have a back 

lock device to avoid rotation . 
- The high quality of the materials, the care in the execution, the simple functioning, the low prices made this product a 

practical, cheap  and safe one. 
 
So we have all the following elements: 

- Steady tension of the belt or chain drive 
- Noise reduction 
- Better efficiency of the transmission 
- Less wear and tear 
- Cheaper and easier to set up. 

 
Automatic  Belt tensioners type RH-PU and RH-PUG are devices with a pulley. With traditional systems when the belt is too tightened the 
transmission devices bearings work too hard and so when the belt grows longer you can have some slipping with relative damaging vibrations. 

Fisatech s.r.o., Hlavná 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk



. 

' " •• 
'\ .... 

" !'-: ... , 
.... 

RH111 - RH155 - RH188 - RH277 
ZE 

.. , • • .. 
•• 

l 
"ti .. 

. /;/' 
li:: · .. , .. .. lt ••• l .. 

. Il 
•• •• il ·. l 

!i:: 
.f ... ' . .. 

•• 

i:' l 
·~'' Ji 

.!i 
Ji 

.-----r-----... 

.. .. 
l 

' \ \ ,-
1 \\ \1 t. l 
., Al l 
Ì' Il 

• • 
l 
• • 

~ ! 
• 

M 
• 

l 
• . .. .. 
• • 
l 
• • 

l 

ALLUMINIO 
ALUMINIUM 
ALUMINIO 

RH 
W= 10° 

111 50 
155 70 
188 210 
277 360 

PARMA - :tTALY 

NEWfON 
W=20o W=30° 

80 120 
170 280 
350 500 
730 1200 

Su richiesta si possono effettuare filettature 
diverse da uelle resenti in catalo o 

On demand we can make different threads 
com ared to those ou can see on our catalo ue 
A petici6n se pueden hacer diferentes roscados 
de a uellos en nuestro catalo o 

Sur la demande on peut faire des filetages 
différents par rapport à ceux q'on peut trouver 
dans notre catalo ue 

~"' ''' 
, 

, 
I 

\ I 

,. 

RH111 - RH155 - RH188 - RH277 

l" , 
#,,\ 

t 
• -t -, t 

... ----
/ 

( I \ 

7-." 

f, 
, 

" I. 1, 
1, 

I. 1, 
1, 

'it/ 
q 

, 
\\ 

\ 
I 

r 
L 

I 

ALLUMINIO 
ALUMINIUM 
ALUMINIO 

RH 
W= 10° 

111 50 
155 70 
188 210 
277 360 

Parma ITALY 

A 

NEWfON 
W=20° W=30° 

80 120 
170 280 
350 500 
730 1200 

Su richiesta si possono effettuare filettature 
diverse da uelle resenti in catalo ""0'-----____ _ 

On demand we can make different threads 
com ared to those ou can see on our catalo ue 

A petici6n se pueden hacer diferentes roscados 
de a uellos en nuestro catalo ,::0 _______ _ 

Sur la demande on peut faire des filetages 
différents par rapport à ceux q'on peut trouver 
dans notre catalo ue 

Fisatech s.r.o., Hlavná 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk



l 

l J l 

J .., 

PARMA - :tTALY 

RH 111 

COD 
NEVVTON 

A B ± 1 c± 1 D E F G H l L M Kg 
MIN MAX 

RH111 8 4815 5215 6 35 815 0.75 22 05 80 M6 x 1 011 79 
RH11165 8 4815 5215 6 35 815 0.75 22 065 l 80 M6 x 1 01179 
RH11185 8 48 ,5 52 ,5 6 35 815 0.75 22 0 815 80 M6 x 1 01179 
RH1111 05 10 120 8 4815 5215 6 35 815 0.75 22 QJ 1 o 15 80 M6 x 1 01179 
RH111 M6 8 4815 5215 6 35 815 0.75 22 M6 x 1 80 M6 x 1 01179 
RH111 MB 8 4815 5215 6 35 815 0.75 22 MB x 1125 80 M6 x 1 01179 
RH111 M10 8 4815 5215 6 35 815 0.75 22 M10 x 115 80 M6 x 1 01179 
RH111 M1 2 8 4815 5215 6 35 815 0.75 22 M1 2 x 1 .75 80 M6 x 1 01179 

RH 155 

COD NEVVTON 
A B ± 1 c ±1 D E F G H l L M Kg 

MIN MAX 
RH155 8 61 66 8 45 815 1.75 28 05 100 MB x 1125 01347 
RH15565 8 61 66 8 45 815 1.75 28 0 615 100 MB x 1125 01347 
RH15585 8 61 66 8 45 815 1.75 28 0 815 100 MB x 1.25 01347 
RH155105 8 61 66 8 45 815 1.75 28 QJ 1 o 15 100 MB x 1125 01347 
RH155125 30 280 8 61 66 8 45 815 1.75 28 0 1215 100 MB x 1.25 01347 
RH155M6 8 61 66 8 45 815 1.75 28 M6 x 1 100 MB x 1.25 01347 
RH 155MB 8 61 66 8 45 85 l 1.75 28 MB x 1 25 l 100 MB x 1.25 01347 
RH155M10 8 61 66 8 45 85 l 1.75 28 M10 x 115 100 MB x 1125 01347 
RH155M12 8 61 66 8 45 815 1.75 28 M12 x 1.75 100 MB x 1125 01347 

RH 188 

COD NEVVTON 
A B ± 1 c ±1 D E F G H l L M Kg MIN MAX 

RH188 10 75 80 1015 58 815 3.75 32 0 615 100 M1 O x 115 01635 
RH18885 10 75 BO 10 5 l 58 85 l 3.75 32 085 l 100 M10 x 115 01635 
RH1881 05 10 75 80 1015 58 85 l 3.75 32 QJ 1 o 15 100 M1 O x 1,5 01635 
RH188125 50 500 10 75 80 1015 58 815 3 75 l 32 0 1215 100 M10 x 115 01635 
RH188M8 10 75 80 1015 58 815 3.75 32 MB x 1125 100 M1 O x 115 01635 
RH188M10 10 75 80 1015 58 815 3.75 32 M10 x 115 100 M10 x 115 01635 
RH188M12 10 75 80 1015 58 815 3.75 32 M12 x 1.75 100 M10 x 115 01635 

RH 277 

COD NEVVTON 
A B ± 1 c± 1 D E F G H l L M Kg 

MIN MAX 
RH277 12 102 11 o 15 78 1 o 15 4.75 50 QJ 815 130 M12 x 1.75 1.74 
RH2771 05 12 102 11 o 15 78 1015 4.75 50 0 1015 130 M12 x 1.75 1.7 4 
RH277125 80 1200 12 102 11 o 15 78 1 o 15 4.75 50 0 1215 130 M12 x 1.75 1.7 4 
RH277M10 12 102 11 o 15 78 1 o 15 4.75 50 M10 x 115 130 M12 x 1.75 1.7 4 
RH277M12 12 102 11 o 15 78 10 5 l . 4.75 50 M12 x 1.75 130 M12 x 1.75 1.74 
RH277M16 12 102 11 o 15 78 1 o 15 4.75 50 M16 x 2 130 M12 x 1 .75 1.7 4 

.EwM. "" fAL 
RH 111 

COD 
NEWTON 

A B ±1 C ±1 D E F G H I L M Kg 
MIN MAX 

RH111 8 52,5 6 
+ 

35 0,75 22 05 80 M6 x 1 0,1 
RH11165 8 52,0 6 35 0,75 22 06,5 80 M6 x 1 0,1 
RH11185 8 48 ,11 52,5 6 35 0,75 22 08,5 80 M6 x 1 0,1 
RH111105 

10 120 8 ~ 52,5 6 35 0,75 22 01 80 M6 x 1 0,1 
RH111M6 8 52,5 6 35 81. 0,75 22 80 M6 x 1 0,1 
RH11 1 M8 8 52,0 6 35 85 0,75 22 M8 x 1l§. 80 M6 x 1 0,1 
RH111 M10 8 52,5 6 35 0,75 22 M10 x ~ 80 M6 x 1 0,1 
RH111 M12 8 52,5 6 35 0,75 22 80 M6 x 1 0,1 

RH 155 

COD 
NEW ON 

A B ±1 C ± 1 D E F G H I L M Kg 
MIN MAX 

RH155 8 61 66 8 45 1,75 28 05 100 M8 x14 0,347 
06,5 0,3771 RH15565 8 61 66 8 45 1,75 28 100 M8 x14 

-t 45 81. 08,5 O ':l , ::;1 RH15585 8 61 66 8 1,75 28 100 M8 x il§. 
-+ 45 RH155105 8 61 66 8 85 1,75 28 0101. 100 M8 x 1 - 0,34 

30 280 1,75 M8 x14 0,3471 RH1551 25 8 61 66 8 45 28 01 100 
1 ,75 0,3771 RH155M6 8 61 66 8 45 28 M6 x 1 100 M8 x14 

-t 45 81. M8 x 1l§. O ':lA RH155M8 8 61 66 8 1,75 28 100 M8 x 1,25 
RH155M10 8 61 66 8 45 8~ 1,75 28 MlO x 12. 100 M8 x 1)11 0,347 

0,3471 RH155M12 8 61 66 8 45 8 1,75 28 100 M8 x 1.è 

RH 188 
NE\AiT5i\ 

COD A B ±1 C ±1 D E F G H I L M Kg 
MIN MAX 

RH188 10 75 80 105 58 81. 3,75 32 o 6,~ 100 M10 x 1 ,~ O h. 

RH18885 10 75 80 10 58 3,75 32 08,5 100 M10 x 1,5 O, 
RH188105 10 75 80 58 3,75 32 01 100 MlO x 1,5 O, 
RH188125 50 500 10 75 80 10,5 58 81. 3,75 32 100 M10 x 1,5 O 
RH188M8 10 75 80 10 58 3,75 32 M8 x 1 100 M10 x 1,5 O, 
RH188M10 10 75 80 58 3,75 32 100 M10 x 1,5 O 
RH188M12 10 75 80 10.2, 58 8.2, 3,75 32 100 M10 x 1,5 O, 

RH 277 

COD 
NEWTON 

A B ± 1 C ± 1 D E F G H I L M Kg 
MIN MAX 

RH277 12 102 110 15 78 10,5 4,75 50 08,5 130 12 x l" 1,7 
RH2771 05 12 102 110 15 78 10,5 4,75 50 01Q2 130 12 x l" 1 ,7-

10,~ 12 x 1 .7E 1,741 RH277125 
80 1200 

12 102 110 15 78 4,75 50 012,5 130 
RH277M10 12 102 110 15 78 10,5 4,75 50 M10 x ~ 130 12 x 1 " 1,~ 

10,5 RH277M12 12 102 110 15 78 4,75 50 M12 x 1E.. 130 12 x 1 " 1 ,7-
10,5 .. 4}5.. 50 RH277M16 .. 12 102 110 15 78 M16 x 2 130 12 x 1 11-... ... ... .. 

Fisatech s.r.o., Hlavná 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk



• 

' 

TESTA OVALE 
OVAL HEAD 
CABEZAOVAL 

.A 

TETE OVALE 

ZE 
PARMA - :tTALY 

RHP111- RHP155- RHP188- RHP277 

POLIETILENE 
POLYETHYLENE 
POLYÉTHYLÈNE 
POLIETILENO 

• • 
l 
• • 

~ • • 
l L_ • 

• • 
l 
• • 

• 

•• •• 

•• •• 

fl- .. .. .. .. .. • ' j 
• •• r·· .. ..... 

, ·= l 
~ .. .;\: : 
:: i ~ l 
b!! =lf--i. .. ~ 

"' •• •• 
•• Il r .. -f1~ .. 

•• 

Il ~ :- Il 
~"1 :: ~ 

~ 

: Il Il --b .. 
• • 

M le-/ 

ALLUMINIO 
ALUMINIUM 
ALUMINIO 

\ 

J 7.7 
.5 

TESTA OVALE 
OVAL HEAD 
CABEZAOVAL -TETE OVALE 

Parma 

RHP111 - RHP155 - RHP188 - RHP277 

POLIETILENE 
POLYETHYLENE 
POLYÉTHYLÈNE 
POLIETILENO 

n-
e , 

" " 

• , 
r " --

I 
~" e , • 

~ I • • 

~:::U 
• • 
I 

~" 
• • 

I .. t: __ 

" 

-

1-

Ml2--' '--L._ 

ALLUMINIO 
ALUMINIUM 
ALUMINIO 

ITALY 

J 1---'-,.7 

Fisatech s.r.o., Hlavná 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk



RHP 111 
A 8 NEVVTON PASSO CATENA PASSO 

B±1 48,5 COD CHAIN PITCH N o p Q Kg COD CHAIN PITCH N o p Q Kg 
C±1 52,5 PASO DE LA CADENA PASO DE LA CADENA MIN M.AX 
D 6 

A A 

PAS DE LA CHAINE PAS DE LA CHAINE 
E 35 RHP111T01038S 318" x 7 (j2" 0681 20 34 70 10 0,259 RHP111T01 OASA35S ASA35 06C.1 20 34 70 10 0,259 
F 8,5 RHP1 11T01 038D 318" x 7 (j2" 0682 20 34 70 10 0,259 RHP111T01 OASA35D ASA35.2 06C.2 20 34 70 10 0,259 
G 0.75 RHP111T01012S 112" x 5/16" 0881 20 34 70 10 0,259 RHP111T010ASA40S ASA40 08A.1 20 34 70 10 0,259 
H 22 10 120 RHP111T01012D 112" x 5/16" 0882 20 34 70 10 0,259 RHP111T01 OASA40D ASA40.2 08A.2 25 34 70 10 0,272 
l 80 RHP111T02058S 518" x 318" 1081 22 44 90 14 0,294 RHP111T020ASA50S ASA50 10A.1 22 44 90 14 0,293 
M M6x1 RHP111T02058D 518" x 318" 1082 25 44 90 14 0,307 RHP1 11T020ASA50D ASA50.2 10A.2 30 44 90 14 0,302 

RHP111T02034S 3/4" x 7/16" 1281 22 44 90 14 0,294 RHP111T020ASA60S ASAEO 12A.1 22 44 90 14 0,303 
RHP111T02034D 3/4" x 7/16" 1282 30 44 90 14 0,315 

RHP 155 
A 8 NEVVTON PASSO CATENA PASSO CATENA 

B±1 61 COD CHAIN PITCH N o p Q Kg COD CHAIN PITCH N o p Q Kg 
C±1 66 PASO DE LA CADENA PASO DE LA CADENA MIN M.AX 
D 8 A A 

PAS DE LA CHAINE PAS DE LA CHAINE 
E 45 RHP1 55T01 038S 318" x 7 (j2" 0681 20 34 70 10 0.427 RHP1 55T010ASA35S ASA35 06C.1 20 34 70 10 0.427 
F 8,5 RHP1 55T01 038D 318" x 7 (j2" 0682 20 34 70 10 0.427 RHP1 55T010ASA35D ASA35.2 06C.2 20 34 70 10 0,427 
G 1.75 RHP155T01012S 112" x 5/16" 0881 20 34 70 10 0.427 RHP1 55T01 OASA40S ASA40 08A.1 20 34 70 10 0.427 
H 28 RHP1 55T01 012D 112" x 5/1611 0882 20 34 70 10 0.427 RHP155T01 OASA40D ASA40.2 08A.2 25 34 70 10 0.44 
l 100 RHP155T02058S 518" x 318" 1081 22 44 90 14 0.462 RHP1 55T020ASA50S ASA50 10A.1 22 44 90 14 0,461 
M M8x1,25 30 280 RHP1 55T02058D 518" x 318" 1082 25 44 90 14 0.475 RHP1 55T020ASA50D ASA50.2 10A.2 30 44 90 14 0.47 

RHP1 55T02034S 3/4" x 7/16" 1281 22 44 90 14 0,462 RHP1 55T020ASA60S ASA60 12A.1 22 44 90 14 0,471 
RHP1 55T02034D 3/4" x 7/16'' 1282 30 44 90 14 0,483 RHP1 55T030ASA80S ASABO 16A.1 25 54 110 18,5 0,509 
RHP1 55T0301S 1" x 17 m\m 1681 25 54 11 o 18,5 0,513 RHP1 55T030ASA100S ASA100 20A.1 25 54 110 18,5 0,509 
RHP1 55T030114S 1"1/4 x 3/4" 2081 25 54 110 18,5 0,513 RHP1 55T030ASA120S ASAS120 24A.1 25 54 110 18,5 0,509 
RHP155T030112S 1"112 x 1" 2481 25 54 11 o 18,5 0,513 

RHP 188 
A 10 NEVVTON PASSO CATENA PASSO CATENA 

B±1 75 COD CHAIN PITCH N o p Q Kg COD CHAIN PITCH N o p Q Kg C±1 80 PASO DE LA CADENA PASO DE LA CADENA MIN M.AX D 10,5 A A 

PAS DE LA CHAINE PAS DE LA CHAINE 
E 58 RHP188T01 038S 318" x 7 (j2" 0681 20 34 70 10 0.719 RHP188T01 OASA35S ASA35 06C.1 20 34 70 10 0.723 
F 8,5 RHP188T01 038D 318" x 7 (j2" 0682 20 34 70 10 0.719 RHP188T01 OASA35D ASA35.2 06C.2 20 34 70 10 0.723 
G 3.75 RHP188T01 012S 112" x 5/16" 0881 20 34 70 10 0.719 RHP188T01 OASA40S ASA40 08A.1 20 34 70 10 0.723 
H 32 RHP188T01 0120 112" x 5/16" 0882 20 34 70 10 0.719 RHP188T01 OASA400 ASA40.2 08A.2 25 34 70 10 0.732 
l 100 RHP188T02058S 518"x318" 1081 22 44 90 14 0.75 RHP188T020ASA50S ASA50 10A.1 22 44 90 14 0.753 
M M10x1,5 50 500 RHP188T020580 518" x 318" 1082 25 44 90 14 0.767 RHP188T020ASA500 ASA50.2 10A.2 30 44 90 14 0.762 

RHP188T02034S 3/4" x 7/16" 1281 22 44 90 14 0.75 RHP188T020ASA60S ASA60 12A.1 22 44 90 14 0.763 
RHP188T020340 3/4" x 7/16" 1282 30 44 90 14 0.775 RHP188T030ASA80S ASABO 16A.1 25 54 110 18,5 0,801 
RHP188T0301 S 1" x 17 m\m 1681 25 54 110 18,5 0,805 RHP188T030ASA100S ASA100 20A.1 25 54 110 18,5 0,801 
RHP188T030114S 1"1/4 x 3/4" 2081 25 54 11 o 18,5 0,805 RHP188T030ASA120S ASAS120 24A.1 25 54 110 18,5 0,801 
RHP188T030112S 1"112x1" 2481 25 54 110 18,5 0,805 

RHP 277 
A 12 NEVVTON PASSO CATENA PASSO CATENA 

B±1 102 co o CHAIN PITCH N o p Q Kg COD CHAIN PITCH N o p Q Kg 
C±1 110 PASO DE LA CADENA PASO DE LA CADENA MIN M.AX 
o 15 A A 

PAS DE LA CHAINE PAS DE LA CHAINE 
E 78 RHP277T0301 S 1" x 17 m\m 1681 25 54 110 18,5 1,91 RHP277T030ASA80S ASABO 16A.1 25 54 110 18,5 1,91 
F 10,5 RHP277T030114S 1"1/4 x 3/4" 2081 25 54 110 18,5 1 ,91 RHP277T030ASA100S ASA100 20A.1 25 54 110 18,5 1,91 
G 4.75 80 1200 RHP277T030112S 1"112x1" 2481 25 54 110 18,5 1,91 RHP277T030ASA120S ASAS120 24A.1 25 54 11 o 18,5 1 91 l 

H 50 
l 130 
M M12x1.75 

-RHP- l 

A 8 
NEWTON 

PASSO CATENA PASSO CAT

lB ± l 48,! 
COO 

CHAN PlTCH 
N O P Q Kg COO 

CHAN PlTCH 
N O P Q Kg 

52 C± 1 PASO DE LA CADENA PASO DE LA CADENA 
MIN 

D 6 PASDE~ PAS DE LA"'CHiJi 

E 35 RHP111T01038S 3fd' x 7f32' ffiBl 20 34 70 10 0,2591 RHP111T010ASA35S ASI\35 ffiC.l 20 34 70 10 02591 
F 8,5 IRHP IHO 0380 3fd' x 7f32' ffiB2 20 34 70 10 02591 RHP111T010ASA350 ASA35.2 I ffiC.21 20 34 70 10 02591 
G 0,75 IRHP IHO 0125 112' x 5116' OSBl 20 34 70 10 0,2591 RHP111T010ASA40S ASMO OSA 1 20 34 70 10 02591 
H 22 

10 120 IRHPl H010120 112' x 5116' OSB2 20 34 70 10 0,2591 RHP111T010ASA400 ASMO.2 25 34 70 10 0,2721 
l 80 5A3' x 3fd' 10Bl 22 90 14 0,294 RHP111T020ASA50S 90 0,2931 44 44 14 
M M6xl IRHP111 r020580 5A3' x 3fd' 10B2 25 44 90 14 0,307 RHP111T020ASA500 ASNfJ2 1 30 44 90 14 0,3021 

~ r02034S 314' x 7/16' 12Bl 22 44 90 14 0,2941 RHP111T020ASA60S 44 90 14 0,3031 
IRHP11 r020340 314' x 7116' 12B2 30 44 90 14 0,3151 

RHP 155 
A 8 NEWfON 

PASSO CATENA PASSO CATENA 

I B ± 1 61 
COO 

CHANPlTCH 
N O P Q Kg COO 

CHAIN PlTCH 
N O P Q Kg 

C±l 66 PASO DE LA CADENA PASODEL~~ MIN 
O 8 PAS DE LA cHAiNE PAS DE LA 

E 45 IRHP1 55T01038S 3fd' x 7f32' ffiB1 20 34 70 10 ~427 RHP155T010ASA35S ASA35 IffiC.1 20 34 70 10 0,427 
8,5 ~2O 0,4271 F RHP1 55T010380 3fd' x 7f32' ffiB2 20 34 70 10 0,4271 RHP1 55T010ASA350 ASA35.2 34 70 10 

G 1,75 IRHP1 55TO 012S 112' x 5116' OSBl 20 34 70 10 0,427 RHP1 55T010ASA40S ASMO OSA 1 20 34 70 10 0,427 
H 28 ro 0120 112' x 5116' OSB2 20 34 70 10 "1"0,427 RHP155T010ASA400 ASMO.2 llA: 25 34 70 10 0,441 
l 100 5A3' x 3fd' 10Bl 22 44 90 14 0,4621 RHP155T020ASA50S 44 90 14 0,461 
M MB!1,25 30 280 10580 5A3'x 3fa' 10B2 25 44 90 14 0,4751 IRHP1 55T020ASA500 ASftffJ.2 1 30 44 90 14 0,47 

IRHP1 55 r02034S 314' x 7116' 12Bl 22 44 90 14 0,4621 RHP1 55T020ASA60S ASI>ffJ 12A 1 22 44 90 14 0,471 
RHP155T020340 314' x 7116' 12B2 30 44 90 14 0,4831 RHP155T030ASA80S ASA80 16Al 25 54 110 0,5091 
IRHP155TO:101 l' x17mlm 16Bl 25 54 110 18,5 0,5131 RHP1 55T030ASA100S ASA100 20A l 25 54 
RHP1 55T030114 S 1'1/4 x3/r 20Bl 25 54 110 18,5 0,51311RHP155T030ASA120S ASAS120 124A 1 25 54 110 ];[[0,5091 

IRHP1 55T030112S 1'112 xl" 24Bl 25 54 110 ~ 0,5131 

RHP 188 
A 10 

NEWfON 
PASSO CATENA PASSO CATENA 

I B ± 1 75 
COO 

CHAN PlTCH 
N O P Q Kg COO 

CHAIN PlTCH 
N O P Q Kg 

C±l 80 PASO DE LA CADENA PASO DE LA CADENA 
MIN 

D 10,5 PAS DE LACHAiii PAS DE LA CHAN: 

E 58 3fd' x 7f32' ffiBl 20 34 70 10 0,7191 RHP188T010ASA35S 34 70 10 0,7231 
F B, 3fd' x 7f32' 06B2 20 34 70 10 0,7191 RHP188T010ASA350 ASA35.2 20 34 70 10 0,7231 
G 3,75 IRHP188TO' 012S 112' x 5116' OSBl 20 34 70 10 0,7191 RHP188T010ASA40S ASMO OSA 1 20 34 70 10 0,7231 
H 32 IRHP188TO 0120 112' x 5116' ooB2 20 34 70 10 0,7191 RHP188T010ASA400 ASMO.2 I OSA: 25 34 70 10 0,7321 
l 100 5A3' x 3fd' 10Bl 22 44 90 14 RHP188T020ASA50S 44 90 14 0,7531 
M Ml0xl , 50 500 m0580 5A3' x 3fd' 10B2 25 44 90 ASASO.2 1 30 44 90 14 0,7621 

IRHP188T02034S 314' x 7116' 12Bl 22 44 90 14 .QZ§j RHP188T020ASA60S AS/>ffJ 12A 1 22 44 90 14 0,7631 
IRHP188T020340 110 ~0,801 314' x 7116' 12B2 30 44 90 14 +0'/751 RHP188T030ASABOS ASABO 16A 1 25 54 
RHP188T0301 S l' x17mlm 16Bl 25 54 110 IR ~ 0,8051IRHP188T030ASA100S ASA1DO 20A l 25 54 110 18,5 0,801 
RHP188T030114S 1'1/4 x 3/4' 20Bl 25 54 110 18,5 0,8051 RHP188T030A5A120S ASAS120 24A l 25 54 110 ~0,801 
RHP188T030112S 1'112 xl " 24Bl 25 54 110 IB ,5 0,8051 

RHP2n 
A 12 

NEWfON 
PASSO CATENA PASSO CATENA 

B±l 102 
COO 

CHAN PlTCH 
N O P Q Kg COO 

CHAIN PlTCH 
N O P Q Kg 

C±l 110 PASO DE LA CADENA PASO DE LA CADENA 
MIN 

D 15 • • 
PAS DE LA CHAN: PAS DE LA CHAN: 

E 78 RHP277T0301S l' x17mlm 16Bl 25 54 110 ~ 1,91 RHP277T030ASA80S ASABO 16A 1 25 54 110 ~ 1,91 
F 10, RHP277T030114S 1'1/4 x 3/4' 20Bl 25 54 110 25 54 1 IRHP27 r030ASA100S ASAl00 20A 1 110 1 
G 1,75 T030112S 1'112 xl " 24Bl 25 54 25 54 

80 
H 50 
l 130 
M M12x112l. 

Fisatech s.r.o., Hlavná 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk



l' 
l 

RHP111 

, .. 
' 4' ~ 
~ 

'-=- \ ' .. .. ... 

' "' , \ , 

ZE 
TESTA TONDA 
ROUND HEAD 
CABEZA REDONDA 

PARMA - :tTALY 

.A 

TETE RONDE 

- RHP155- RHP188- RHP277 

• • 

' • 

• 

POLI ETILENE 
POLYETHYLENE 
POLYÉTHYLÈNE 
POLIETILENO 

~ 
~,. 

{ . \ 
t l .. l ~ .. ., 
• • 

• 

• • • • • ,.._ .. .., -·· • .. .. .. 
• l l • .. .. .. ... 
" ... "' .. 

r··i1 l l l .. .. .. , ... r: .. "' .. 
~.. ' l l • .. .. ... .. "' ... 
: • l l l 
b :\J--L , .. , .. .. .. 

~= . . l l •• 

n-.. .. .. .. •• • r .. .. .. 
l , ... , 

~ .. --
l .. .. 

b:: 
w -

~ 
, Ml~ 

•• 

l 
"' 

ALLUMINIO 
ALUMINIUM 
ALUMINIO 

19 

J ~~.7 

TESTA TONDA 
ROUND HEAD 
CABEZA REDONDA -TETE RONDE 

j , j 
• -. ....... 

RHP111 - RHP155 - RHP188 - RHP277 

POllETILENE 
POLYETHYLENE 
POLYÉTHYLÈNE 
POLIETILENO 

• • 

I I 
• • • • 

r"f'! I 
• 

• , i • • I ~" • , 

i 
, 
I • • 

bU-l.. 

r' 
• • 

~. 
• • 

b, 

~, 
• • 

b, 

• 
I 
• • 
I 
• • 
I 
• • 
I 
• • 
j 

Parma ITALY 

, _ .. 
• 
I 
• • 

• • • 

• , 
• 

• , 
• , 

•• 

Mlc/ J ---'-; 

r 
L 

ALLUMINIO 
ALUMINIUM 
ALUMINIO 

Fisatech s.r.o., Hlavná 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk



RHP 111 
A 8 NEVVfON PASSO CATENA PASSO CATENA 

B±1 48,5 COD CHAIN PITCH N o p Q Kg COD CHAIN PITCH N o p Q Kg 
C±1 52,5 PASO DE LA CADENA PASO DE LA CADENA MIN MAX • • D 6 PAS DE LA CHAINE PAS DE LA CHAINE 

E 35 RHP111T01T38S 318" ){ 7 {32" 0681 20 34 70 10 0,259 RHP111T01TASA35S ASA35 06C.1 20 34 70 10 0,259 
F 8,5 RHP111T01T38D 318" ){ 7 {32" 0682 20 34 70 10 0,259 RHP111T01TASA35D ASA35.2 06C.2 20 34 70 10 0,259 
G 0,75 RHP111T01T38T 318" ){ 7 {32" 0683 26 34 70 10 0,266 RHP111T01TASA35T ASA35.3 06C.3 24,4 34 70 10 0,265 
H 22 RHP111T01T12S 1/2" ){ 5/16" 0881 20 34 70 10 0,259 RHP111T01TASA40S ASA40 08A.1 20 34 70 10 0,259 
L BO RHP111T01T12D 112" ){ 5/16" 0882 20 34 70 10 0,259 RHP111T01TASA40D ASA40.2 08A.2 25 34 70 10 0,272 
M M6x1 10 120 RHP111T01T12T 112" ){ 5/16" 0883 34,5 34 70 10 0,284 RHP111T01TASA40T ASA40.3 08A.3 36 34 70 10 0,291 

RHP111T02T58S 518 Il ){ 318" 1081 22 44 90 14 0,294 RHP111T02TASA50S ASA50 10A.1 22 44 90 14 0,293 
RHP111T02T58D 5/B" x 318" 1082 25 44 90 14 0,307 RHP111T02TASA50D ASA50.2 10A.2 30 44 90 14 0,322 
RHP111T02T58T 518 Il ){ 318" 1083 41,5 44 90 14 0,349 RHP111T02TASA50T ASA50.3 10A.3 44,8 44 90 14 0,36 
RHP111T02T34S 3/4" ){ 7/16" 1281 22 44 90 14 0,294 RHP111T02TASA60S ASA60 12A.1 22 44 90 14 0,293 
RHP111T02T34D 3/4" ){ 7/16" 1282 30 44 90 14 o ,315 RHP111T02TASA60D ASA60.2 12A.2 34,8 44 90 14 0,325 
RHP111T02T34T 3/4" ){ 7/16" 1283 49 44 90 14 0,365 RHP111T02TASA60T ASA60.3 12A.3 57,6 44 90 14 0,405 

RHP 155 
A 8 NEV\fTON PASSO CATENA PASSO CATENA 

B±1 61 COD CHAIN PITCH N o p Q Kg COD CHAIN PITCH N o p Q Kg C±1 66 PASO DE LA CADENA PASO DE LA CADEN.A. MIN MAX 
D 8 • • PAS DE LA CHAINE PAS DE LA CHAINE 
E 45 RHP1 55T01T38S 318" ){ 7 f32" 0681 20 34 70 10 0,427 RHP155T01TASA35S ASA35 06C.1 20 34 70 10 0,427 
F 8,5 RHP155T01T38D 318" ){ 7 {32" 0682 20 34 70 10 0,427 RHP155T01TASA35D ASA35.2 06C.2 20 34 70 10 0,427 
G 1 ,75 RHP1 55T01T38T 318" ){ 7 f32" 0683 26 34 70 10 0,434 RHP1 55T01TASA35T ASA35.3 06C.3 24,4 34 70 10 0,433 
H 28 RHP1 55T01T12S 112" ){ 5/16" 0881 20 34 70 10 0,427 RHP1 55T01TASA40S ASA40 08A.1 20 34 70 10 0,427 
L 100 RHP1 55T01T12D 112" ){ 5/16" 0882 20 34 70 10 0,427 RHP1 55T01TASA40D ASA40.2 08A.2 25 34 70 10 0,44 
M M8x1,25 RHP155T01T12T 112" ){ 5/16" 0883 34,5 34 70 10 0,452 RHP1 55T01TASA40T ASA40.3 08A.3 36 34 70 10 0,459 

RHP155T02T58S 518 Il ){ 318" 1081 22 44 90 14 0,462 RHP155T02TASA50S ASA50 10A.1 22 44 90 14 0,461 
RHP155T02T580 518" ){ 318" 1082 25 44 90 14 0,475 RHP1 55T02TASA50D ASA50.2 10A.2 30 44 90 14 0,49 
RHP1 55T02T58T 518 Il ){ 318" 1083 41,5 44 90 14 0,517 RHP155T02TASA50T ASA50.3 10A.3 44,8 44 90 14 0,528 

30 280 RHP1 55T02T34S 3/4" ){ 7/16" 1281 22 44 90 14 0,462 RHP155T02TASA60S ASA60 12A.1 22 44 90 14 0,461 
RHP155T02T34D 3/4" ){ 7/16" 1282 30 44 90 14 0,483 RHP1 55T02TASA60D ASA60.2 12A.2 34,8 44 90 0,493 14 
RHP1 55T02T34T 3/4" ){ 7/16" 1283 49 44 90 14 0,533 RHP155T02TASA60T ASA60.3 12A.3 57,6 44 90 14 0,573 
RHP155T03T1 S 1" x 17 m\m 1681 25 54 110 18,5 o ,513 RHP1 55T03TASA80S AS.ABO 16A.1 25 54 11 o 18,5 0,509 
RHP1 55T03T1 D 1" x 17 m\m 1682 46 54 1'10 18,5 0,587 RHP1 55T03TASA80D AS.AB0.2 16A.2 44,3 54 11 o 18,5 0,584 
RHP155T03T114S 1"1/4 ){ 3/4" 2081 25 54 110 18,5 0,513 RHP1 55T03TASA80T AS.AB0.3 16A.3 73,6 54 11 o 18,5 0,722 
RHP155T03T112S 1"112 x 1" 2481 25 54 110 18,5 0,513 RHP1 55T03TASA 100S ASA100 20A.1 25 54 110 18,5 0,509 

RHP1 55T03TASA100D ASA100.2 20A.2 54 54 110 18,5 0,63 
RHP155T03TASA 100T ASA100.3 20A.3 90 54 110 18,5 0,803 
RHP1 55T03TASA120S ASAS120 24A.1 25 54 110 18,5 0,509 
RHP1 55T03TASA120D ASA120.2 24A.2 70 54 110 18,5 0,704 

RHP 188 
A 10 NEV\fTON PASSO CATENA PASSO CATENA 

B±1 75 COD CHAIN PITCH N o p Q Kg COD CHAIN PITCH N o p Q Kg C±1 80 PASO DE LA CADENA PASO DE LA CADENA MIN MAX 
D 10,5 • • PAS DE LA CHAINE PAS DE LA CHAINE 
E 58 RHP188T01T38S 318" ){ 7 {32" 0681 20 34 70 10 0,719 RHP188T01TASA35S ASA35 06C.1 20 34 70 10 0,723 
F 8,5 RHP188T01T38D 318" x 7 {32" 0682 20 34 70 10 0,719 RHP188T01TASA35D ASA35.2 06C.2 20 34 70 10 0,723 
G 3,75 RHP188T01T38T 318" x 7 f32" 0683 26 34 70 10 0,726 RHP188T01TASA35T ASA35.3 06C.3 24,4 34 70 10 0,725 
H 32 RHP188T01T12S 112" ){ 5/16" 0881 20 34 70 10 0,719 RHP188T01TASA40S ASA40 08A.1 20 34 70 10 0,723 
L 100 RHP188T01T12D 112" ){ 5/16" 0882 20 34 70 10 0,719 RHP188T01TASA40D ASA40.2 08A.2 25 34 70 10 0,732 
M M1 Ox1,5 RHP188T01T12T 112" ){ 5/16" 0883 34,5 34 70 10 0,744 RHP188T01TASA.40T ASA40.3 08A.3 36 34 70 10 0,755 

RHP188T02T58S 518 Il x 318" 1081 22 44 90 14 0,75 RHP188T02TASA50S ASA50 10A.1 22 44 90 14 0,753 
RHP188T02T580 518" x 318" 1082 25 44 90 14 0,767 RHP188T02TASA50D ASA50.2 10A.2 30 44 90 14 0,782 
RHP188T02T58T 518 Il ){ 318" 1083 41,5 44 90 14 0,805 RHP188T02TASA50T ASA50.3 10A.3 44,8 44 90 14 0,82 

50 500 RHP188T02T34S 3/4"x7/16" 1281 22 44 90 14 0,75 RHP188T02TASA60S ASA60 12A.1 22 44 90 14 0,753 
RHP188T02T34D 3/4" x 7/16" 1282 30 44 90 14 0,775 RHP188T02TASA60D ASA60.2 12A.2 34,8 44 90 14 0,785 
RHP188T02T34T 3/4"x7/16" 1283 49 44 90 14 0,821 RHP188T02TASA60T ASA60.3 12A.3 57,6 44 90 14 0,865 
RHP188T03T1 S 1" x 17 m\m 1681 25 54 110 18,5 0,805 RHP188T03TASA80S AS.ABO 16A.1 25 54 11 o 18,5 0,801 
RHP188T03T1 D 1" x 17 m\m 1682 46 54 110 18,5 0,879 RHP188T03TASA80D AS.AB0.2 16A.2 44,3 54 11 o 18,5 0,876 
RHP188T03T114S 1"1/4 x 3/4 Il 2081 25 54 110 18,5 0,805 RHP188T03TASA80T AS.AB0.3 16A.3 73,6 54 11 o 18,5 1,014 
RHP188T03T112S 1"112 x 1" 2481 25 54 110 18,5 0,805 RHP188T03TASA 100S ASA100 20A.1 25 54 110 18,5 0,801 

RHP188T03TASA100D ASA100.2 20A.2 54 54 110 18,5 0,922 
RHP188T03TASA 100T ASA100.3 20A.3 90 54 11 o 18,5 1,095 
RHP188T03TASA120S ASAS120 24A.1 25 54 110 18,5 0,801 
RHP188T03TASA 120D ASA120.2 24A.2 70 54 110 18,5 0,996 

RHP 277 
A 12 NEVVfON PASSO CATENA PASSO CATENA 

B±1 102 COD CHAIN PITCH N o p Q Kg COD CHAIN PITCH N o p Q Kg C±1 110 PASO DE LA CADENA PASO DE LA CADEN.A. MIN MAX 
D 15 • • PAS DE LA CHAINE PAS DE LA CHAINE 
E 78 RHP277T03T1 S 1" x 17 m\m 1681 25 54 110 18,5 1,91 RHP277T03TASA80S AS.ABO 16A.1 25 54 110 18,5 1,91 
F 10,5 RHP277T03T1 D 1" x 17 m\m 1682 46 54 110 18,5 1,984 RHP277T03TASA80D AS.AB0.2 16A.2 44,3 54 110 18,5 1,985 
G 4,75 RHP277T03T114S 1"1/4 x 3/4" 2081 25 54 110 18,5 1,91 RHP277T03TASA80T AS.AB0.3 16A.3 73,6 54 11 o 18,5 2,123 
H 50 80 1200 RHP277T03T112S 1"112x1" 2481 25 54 110 18,5 1,91 RHP277T03TASA100S ASA100 20A.1 25 54 110 18,5 1,91 
L 130 RHP277T03TASA 100D ASA100.2 20A.2 54 54 110 18,5 2,031 
M M12x1,75 RHP277T03TASA 100T ASA100.3 20A.3 90 54 110 18,5 2,2 

RHP277T03TASA120S ASAS120 24A.1 25 54 11 o 18,5 1,91 
RHP277T03TASA120D ASA120.2 24A.2 70 54 11 o 18,5 2,105 

- NEWTON 

- MIN 

10 120 

-=-"A-+~,,----- NEWTON 

F 
G 

'--- MIN 

30 280 

.,.-:::A-.t-----;&-- NEWTON 

F 
G 

- MIN 

50 500 

-=-"A-+----"1,,,,2,-- NEWTON 

F 
G 

t--'-f - MIN 

80 

PASSO CATENA 

COD CHA~ PITCH 
N o p Q 

PASO DE LA CADENA 

iiii~~~~~3;i/8;;-" =-x 7f,/3~2;-:-" 0682 20 34 70 10 
3/8" x 7/32" 

--t--::' 

314" x 7116" 1281 
3/4" x 7116" 1282 

10 

44 14 
44 90 14 
44 90 14 

Kg 

COD N o p Q Kg 

x 
~~~~~~3~/8;;-":-x 7f,/3~2;-:-" 0682 20 34 70 10 
iiii~~~~~3~/8~" =-x 7f,/3~2;-:-" 0683 26 34 70 10 

COD N 

44 
44 

o p 

14 
14 

Q Kg 

x 
~~~~~~3~/8;;-":-x 7f,/3~2;-:-" 0682 20 34 70 10 
iiii~~~~~3~/8~":-x 7f,/3~2;-:-" 0683 26 34 70 10 

COD 

1283 
1681 

N 

44 
44 

o p 

D 1" x 17 m'm 1682 46 54 110 
145 1"1/4.3/4" 2081 25 54 110 

14 
14 

Q Kg 

CO D 

COD 

PASSO CATENA 

CHAIN PITCH 

PASO DE LA CADENA 

ASA35.2 

ASA60 
ASA60.2 

ASA35.2 
ASA35.3 

N 

N 

o p Q Kg 

34 70 _1,.,,0--+-;:-,,= 

10 
1 

44 =9~0c:tJI~~ 
44 90 ---,-14,-+~== 

o p Q Kg 

34 70 10 
34 70 ~1 O,-+~== 

44 
44 

=~~~~=;-..!~~~ ~:::::;; --:::;:-_~ --:-:-;;- -:-1 ~~~ 
ASA100.3 90 54 110 -:il~8'H~~ 

COD 

COD 

ASASl20 25 54 110 ~8 

ASA35.2 
ASA35.3 

ASA100.3 
ASASl20 

ASABO.2 
ASABO.3 

N o p Q Kg 

34 70 ~lOW~~ 
34 70 10 

44 
44 
54 

14 
14 

90 54 110 
25 54 --,1-:;1 0:,-+~=+.:'~ 

N o p 

54 110 
54 110 

Q Kg 

Fisatech s.r.o., Hlavná 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk



ZE 
PARMA - :tTALY 

RHPU111- RHPU155- RHPU188- THPU277 

PULEGGE (NYLON, ALLUMINIO, ACCIAIO ZINCATO) 
PULLEY (NYLON, ALUMINUM, ZINC-COATED STEEL) , 
POULIE (NYLON , ALUMINIUM , ACIER ZINGUE ) 
POLEA (NAILON , ALUMINIO , ACERO CINCADO ) 

•• .. 
l ... 

r 
L_ 

n-··-··-··-··-··-.·-··-n 
• • :i r l. .1 -

• • • 

l l 
• • 

= Il 
tll • • 

! i n 
u_··-··-··-.. -· ·-· Jj 

ALLUMINIO 
ALUMINIUM 
ALUMINIO 

r- I 
, 

Parma 
RHPU111 - RHPU155 - RHPU188 - THPU277 

ITALY 

PULEGGE (NYLON ,ALLU IO, ACCIAIO ZINCATO) 
PULLEY (NYLON ,ALUMINUM, ZINC-COATED STEEL) 

• 
POULlE (NYLON , ALUMINIUM , ACIER ZINGUE ) 
POLEA (NAILON, ALU IO , ACERO CINCADO ) 

"'7 

r 
L 

ì 
~ .. _ .. _ .. _ .. _ .. _ .. - .. ~ 

, , 
• • • • 

i' " -, , 

P,i ,II 
~I 

, ' 

ii " 
~"_"_"_"_"_I . il 

ALLUMINIO 
ALUMINIUM 
ALUMINIO 

Fisatech s.r.o., Hlavná 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk



RHPU 111 

COD 
NEVVTON 

A B ±1 c ±1 D E F G L M N o p Q Q1 Kg 
MIN MAX 

RHPU1 11 3035AC 8 4815 5215 6 35 815 0.75 BO M6 x 1 215 35 30 5 MB 01319 
RHPU1 11 3035AL 8 4815 5215 6 35 815 0.75 BO M6 x 1 215 35 30 5 MB 01265 
RHPU1 11 3035NY 8 4815 5215 6 35 815 0.75 BO M6 x 1 215 35 30 5 MB 01249 
RHPU1 11 4045NY 10 120 8 4815 5215 6 35 815 0.75 80 M6 x 1 6 45 40 6 M10 01343 
RHPU1 11 5050AC 8 4815 5215 6 35 815 0.75 80 M6 x 1 215 50 50 7 M12 01844 
RHPU1 11 5050AL 8 48 5 l 5215 6 35 815 0.75 BO M6 x 1 215 50 50 7 M12 01535 
RHPU1 11 5050NY 8 4815 5215 6 35 815 0.75 BO M6 x 1 215 50 50 7 M12 01439 

RHPU 155 

COD 
NEVVTON 

A B ± 1 c ±1 D E F G L M N o p Q Q1 Kg 
MIN MAX 

R HP U 1553035AC 8 61 66 8 45 815 1 .75 100 MB x 1125 215 35 30 5 MB 0.487 
RHP U 1553035AL 8 61 66 8 45 815 1 .75 100 MB x 1125 215 35 30 5 MB 01433 
RHPU1553035NY 8 61 66 8 45 815 1 .75 100 MB x 1125 215 35 30 5 MB 0.417 
RHPU1554045NY 8 61 66 8 45 85 l 1 .75 100 MB x 1125 6 45 40 6 M10 o 151 1 
R HP U 1555050AC 30 280 8 61 66 8 45 815 1 .75 100 MB x 1125 215 50 50 7 M12 11012 
R HP U 1555050AL 8 61 66 8 45 815 1 .75 100 MB x 1125 215 50 50 7 M12 0.703 
RHPU1555050NY 8 61 66 8 45 815 1 .75 100 MB x 1125 215 50 50 7 M12 01607 
R HP U 1556060AC 8 61 66 8 45 815 1 .75 100 MB x 1125 215 60 60 7 M12 11487 
RH P U 1556060AL 8 61 66 8 45 815 1 .75 100 MB x 1.25 215 60 60 7 M12 01887 
RHPU1556060NY 8 61 66 8 45 815 1 .75 100 MB x 1125 215 60 60 7 M12 0163 

RHPU 188 

COD 
NEVVTON A B ±1 c ±1 D E F G L M N o p Q Q1 Kg 
MIN MAX 

R HP U 1883035AC 10 75 BO 1 o 15 58 815 3.75 100 M1 O x 115 215 35 30 5 MB 0.775 
R HP U 1883035AL 10 75 BO 1 o 15 58 815 3.75 100 M1 O x 115 215 35 30 5 MB 0.721 
RHPU1883035NY 10 75 BO 1 o 15 58 815 3.75 100 M1 O x 115 215 35 30 5 MB 0.705 
RHPU1884045NY 10 75 BO 1 o 15 58 815 3.75 100 M1 O x 115 6 45 40 6 M10 0.799 
RHP U 1885050AC 10 75 BO 1 o 15 58 815 3.75 100 M1 O x 115 215 50 50 7 M12 113 
RH P U 1885050AL 10 75 BO 1 o 15 58 815 3.75 100 M10 x 115 215 50 50 7 M12 01991 
RH P U 1885050 N Y 10 75 BO 1 o 15 58 815 3.75 100 M1 O x 115 215 50 50 7 M12 01895 
R HP U 1B86060AC 50 500 10 75 BO 1 o 15 58 815 3.75 100 M10 x 1,5 215 60 60 7 M12 1.775 
R HP U1886060AL 10 75 80 1 o ,5 58 8,5 3.75 100 M1 O x 1,5 215 60 60 7 M12 11175 
RHPU1886060NY 10 75 BO 1 o 15 58 815 3.75 100 M1 O x 1,5 215 60 60 7 M12 01918 
R HP U 1888080AC 10 75 BO 1 o 15 58 815 3.75 100 M1 O x 115 215 BO BO 7 M12 31366 
R HP U 1888080AL 10 75 BO 1 o 15 58 815 3.75 100 M1 O x 115 215 BO BO 7 M12 11811 
RH P U 1888080 N Y 10 75 BO 1015 58 815 3.75 100 M1 O x 115 215 BO BO 7 M12 11288 
RHP U 1888090AC 10 75 BO 1 o 15 58 815 3.75 100 M1 O x 115 215 90 BO 7 M12 3.757 
RH P U 1888090AL 10 75 80 1 o 15 58 815 3.75 100 M1 O x 1,5 215 90 BO 7 M12 11935 
RHPU1888090NY 10 75 BO 1 o ,5 58 8,5 3.75 100 M10 x 1,5 215 90 80 7 M12 11327 

RHPU 277 

COD 
NEVVTON 

A B ±1 c ±1 D E F G L M N o p Q Q1 Kg 
MIN MAX 

RHPU277 4045NY 12 102 11 o 15 78 1 o 15 4.75 130 M12 x 1.75 6 45 40 6 M10 11944 
R HP U2775050AC 12 102 11 o 15 78 1 o 15 4.75 130 M12 x 1.75 215 50 50 7 M12 21405 
R HP U2775050AL 12 102 11 o 15 78 1 o 15 4.75 130 M12 x 1.75 215 50 50 7 M12 21096 
RHPU2775050NY 12 102 11 o 15 78 1 o 15 4.75 130 M12 x 1.75 215 50 50 7 M12 2 
R HP U2776060AC 12 102 11 o 15 78 1 o 15 4.75 130 M12 x 1.75 215 60 60 7 M12 2188 
RHP U2776060AL 12 102 11 o 15 78 1 o 15 4.75 130 M12 x 1.75 215 60 60 7 M12 2128 
R HP U2776060NY BO 1200 12 102 11 0 15 78 1 o 15 4.75 130 M12 x 1.75 215 60 60 7 M12 21023 
R HP U2778080AC 12 102 11 o 15 78 1 o 15 4.75 130 M12 x 1.75 215 BO BO 7 M12 4.471 
R HP U2778080AL 12 102 11 o 15 78 1 o 15 4.75 130 M12 x 1.75 215 BO BO 7 M12 21916 
R HP U2778080NY 12 102 11 o 15 78 1 o 15 4.75 130 M12 x 1.75 215 BO BO 7 M12 21393 
RHP U2778090AC 12 102 11 o 15 78 1 o 15 4.75 130 M12 x 1.75 215 90 BO 7 M12 41862 
R HP U2778090AL 12 102 11 0 15 78 1 o 15 4.75 130 M12 x 1.75 215 90 BO 7 M12 3104 
R HP U2778090NY 12 102 11 o 15 78 1 o 15 4.75 130 M12 x 1.75 215 90 BO 7 M12 21432 

~111 
-t 

I NEWTON 
COO A B ± 1 C ± 1 O E F G L M N O P O 01 Kg 

MIN MAX 
:-I 

RHPU1113035AC 8 48,5 52,5 6 35 8,5 0,75 80 M6 x 1 2,5 35 30 5 M8 0,31~ 
RHPU1113035AL 8 48,5 52,5 6 35 8,5 0,75 80 M6 x 1 2,5 35 30 5 M8 0,26~ 
RHPU1113035NY 8 48,5 52,5 6 35 8,5 0,75 80 M6 x 1 2,5 35 30 5 M8 0,24~ 
RHPU1114045NY 10 120 8 48,5 52,5 6 35 8,5 0,75 80 M6 x 1 6 45 40 6 M10 0,34~ 
RHPU1115050AC 8 48,5 52,5 6 35 8,5 0,75 80 M6 x 1 2,5 50 50 7 M1 2 0,84~ 
RHPU1115050AL 8 48,5 52,5 6 35 8,5 0,75 80 M6 x 1 2,5 50 50 7 M1 2 0,53~ 
RHPU1115050NY 8 48,5 52,5 6 35 8,5 0,75 80 M6 x 1 2,5 50 50 7 M1 2 0,43~ 

~ 
~155 

-t 
I NEWTON 

COO A B ± 1 C ± 1 O E F G L M N O P O 01 Kg 
MIN MAX 

:-I 
RHPU1553035AC 8 61 66 8 45 8,5 1,75 100 M8 x1 ,25 2,5 35 30 5 M8 0,48~ 
RHPU1553035AL 8 61 66 8 45 8,5 1,75 100 M8x1,25 2,5 35 30 5 M8 0,431 
RHPU1553035NY 8 61 66 8 45 8,5 1,75 100 M8 x1,25 2,5 35 30 5 M8 0,41~ 
RHPU1554045NY 8 61 66 8 45 8,5 1,75 100 M8x1,25 6 45 40 6 M10 0,51 1 
RHPU1555050AC 8 61 66 8 45 8,5 1,75 100 M8 x1,25 2,5 50 50 7 M1 2 

30 280 1 ,01~ 
RHPU1555050AL 8 61 66 8 45 8,5 1,75 100 M8 x1,25 2,5 50 50 7 M12 0,701 
RHPU1555050NY 8 61 66 8 45 8,5 1,75 100 M8 x1,25 2,5 50 50 7 M1 2 0,60~ 
RHPU1556060AC 8 61 66 8 45 8,5 1,75 100 M8 x 1,25 2,5 60 60 7 M1 2 1 ,48~ 
RHPU1556060AL 8 61 66 8 45 8,5 1,75 100 M8 x1,25 2,5 60 60 7 M1 2 0,88~ 
RHPU1556060NY 8 61 66 8 45 8,5 1,75 100 M8 x1,25 2,5 60 60 7 M1 2 0,6~ 

~ 
~188 

-t 
I NEWTON 

COO A B ± 1 C ± 1 O E F G L M N O P O 01 Kg 
MIN MAX 

:-I 
RHPU1883035AC 10 75 80 10,5 58 8,5 3,75 100 M10 x 1,5 2,5 35 30 5 M8 0,77~ 
RHPU1883035AL 10 75 80 10,5 58 8,5 3,75 100 M10 x 1,5 2,5 35 30 5 M8 0,721 
RHPU1883035NY 10 75 80 10,5 58 8,5 3,75 100 M10 x 1,5 2,5 35 30 5 M8 0,70~ 
RHPU1884045NY 10 75 80 10,5 58 8,5 3,75 100 M10 x 1,5 6 45 40 6 M10 0,79~ 
RHPU1885050AC 10 75 80 10,5 58 8,5 3,75 100 M10 x 1,5 2,5 50 50 7 M1 2 1 ,~ 
RHPU1885050AL 10 75 80 10,5 58 8,5 3,75 100 M10 x 1,5 2,5 50 50 7 M1 2 0,991 
RHPU1 885050NY 10 75 80 10,5 58 8,5 3,75 100 M10 x 1,5 2,5 50 50 7 M1 2 0,89~ 
RHPU1886060AC 10 75 80 10,5 58 8,5 3,75 100 M10 x 1,5 2,5 60 60 7 M1 2 

50 500 1 ,77~ 
RHPU1886060AL 10 75 80 10,5 58 8,5 3,75 100 M10 x 1,5 2,5 60 60 7 M1 2 1 ,17~ 
RHPU1886060NY 10 75 80 10,5 58 8,5 3,75 100 M10 x 1,5 2,5 60 60 7 M1 2 0,91~ 
RHPU1888080AC 10 75 80 10,5 58 8,5 3,75 100 M10 x 1,5 2,5 80 80 7 M1 2 3,36~ 
RHPU1888080AL 10 75 80 10,5 58 8,5 3,75 100 M10 x 1,5 2,5 80 80 7 M1 2 1,81 1 
RHPU1888080NY 10 75 80 10,5 58 8,5 3,75 100 M10 x 1,5 2,5 80 80 7 M1 2 1 ,28~ 
RHPU1888090AC 10 75 80 10,5 58 8,5 3,75 100 M10 x 1,5 2,5 90 80 7 M1 2 3,75~ 
RHPU1888090AL 10 75 80 10,5 58 8,5 3,75 100 M10 x 1,5 2,5 90 80 7 M1 2 1 ,93~ 
RHPU1888090NY 10 75 80 10,5 58 8,5 3,75 100 M10 x 1,5 2,5 90 80 7 M1 2 1 ,32~ 

., 
~277 

-t 
NEWTON 

COO A B ± 1 C ± 1 O E F G L M N O P O 01 Kg 
MIN MAX 

:i 
RHPU277 4045NY 12 102 110 15 78 10,5 4,75 130 M12 x 1,75 6 45 40 6 M10 1 ,94~ 
RHPU2775050AC 12 102 110 15 78 10,5 4,75 130 M12 x 1,75 2,5 50 50 7 M1 2 2,40~ 
RHPU2775050AL 12 102 110 15 78 10,5 4,75 130 M1 2 x 1,75 2,5 50 50 7 M1 2 2,09~ 
RHPU2775050NY 12 102 110 15 78 10,5 4,75 130 M1 2 x 1,75 2,5 50 50 7 M1 2 ~ 
RHPU2776060AC 12 102 110 15 78 10,5 4,75 130 M1 2x1,75 2,5 60 60 7 M1 2 2,8~ 
RHPU2776060AL 12 102 110 15 78 10,5 4,75 130 M1 2 x 1,75 2,5 60 60 7 M1 2 2 ,2~ 
RHPU2776060NY 80 1200 12 102 110 15 78 10,5 4,75 130 M12 x 1,75 2,5 60 60 7 M1 2 2,02~ 
RHPU2778080AC 12 102 110 15 78 10,5 4,75 130 M12 x 1,75 2,5 80 80 7 M1 2 4,471 
RHPU2778080AL 12 102 110 15 78 10,5 4,75 130 M1 2 x 1,75 2,5 80 80 7 M1 2 2,91~ 
RHPU2778080NY 12 102 110 15 78 10,5 4,75 130 M1 2x1,75 2,5 80 80 7 M1 2 2,391 
RHPU2778090AC 12 102 110 15 78 10,5 4,75 130 M1 2x1,75 2,5 90 80 7 M1 2 4,86~ 
RHPU2778090AL 12 102 110 15 78 10,5 4,75 130 M1 2x1,75 2,5 90 80 7 M1 2 3,0~ 
RHPU2778090NY 12 102 110 15 78 10,5 4,75 130 M1 2 x 1,75 2,5 90 80 7 M1 2 2 ,43~ 

Fisatech s.r.o., Hlavná 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk



NE'WTD~ 

ZE 
PARMA - :tTALY 

RHPUG111- RHPUG155- RHPUG188- RHPUG277 

CON PULEGGIA A GOLA IN MATERIALE PLASTICO PA-6 
WITH PA-6 PLASTIC MATERIAL RIM PULLEY 

' , 
AVEC POULIE A CANNELURE EN MATERIEL PLASTIQUE PA-6 , 
CON POLEA A GARGANTA EN MATERIAL PLASTICO PA-6 

~~,. . ~ 

. ~\ 
r· ., ~ 
t l :: ;· 
~'" . . .. 

• l .. . l 
··.: :l? i . t;· .. ~· 

~· :.. ti 
//1' i~· 
~~l l.~ l ,.. li 
. 1:: . ., l f .:-

' l t' .:· 
l~.! 

f 
... l . .. .. . , 

.. ~~~· .. 

M l 

r 
L 

n.. :11 ·. \ ,. . 
ii ·. : ii 
Il H Il 

riti IlM. -
,y -.. • fl ... .,, 

ii ii i i iì .. . , ... , ... 

• y • • " •• 

\i i! i i ii 
•y ••• ,• ... 

't . .J~! i·~ 
i i . . i l 
.. . . . 
ii : ~ ii . . \ .. . . :il 

____, 6 ~ 

ALLUMINIO 
ALUMINIUM 
ALUMINIO 

TAPPI DI PROTEZIONE 
PROTECTION CAPS 
BOUCHONS DE PROTECTION 

• • 
TAPONES DE PROTECCION 

Parma ITALY 

RHPUG111 - RHPUG155 - RHPUG188 - RHPUG277 

CON PULEGGIA A GOLA IN MATERIALE PLASTICO PA-6 
WITH PA-6 PLASTIC MATERIAL RIM PULLEY , , 

AVEC POULlE A CANNELURE EN MATERIEL PLASTIQUE PA-6 , 

CON POLEA A GARGANTA EN MATERIAL PLASTICO PA-6 

...,..----NEIJTON 

• 

r 
L 

Il 
:: \ 
Il '. ; 

IIH 
.fili 1;1--. .. '.' . 
i i ii i i ... ..' . '" '.' . 

!! !I! I 
\! !!! i 
t J!! ! 

.' -
Il -r 

--' 6 

ALLUMINIO 
ALUMINIUM 
ALUMINIO 

-l 13,7 L-

TAPPI DI PROTEZIONE 
PROTECTION CAPS 
BOUCHONS DE PROTECTION 
TAPONES DE PROTECCION 

Fisatech s.r.o., Hlavná 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk



ZE 
PARMA - :tTALY 

RHPUG 111 

COD NEVVTON A B ±1 c ±1 D E F G L M Q (0) v (0) Kg 
MIN MAX 

RHPUG3111 10 120 8 48,5 52,5 6 35 8,5 0?5 80 M6 x 1 76,5 50 0,344 
RHPUG4111 10 120 8 48,5 52,5 6 35 8,5 0}5 80 M6 x 1 102 75A 0,367 

RHPUG 155 

COD NEVVTON A B ± 1 c ±1 D E F G L M Q (0) v (0) Kg 
MIN MAX 

RHPUG3155 30 280 8 61 66 8 45 8,5 1 ?5 100 MB x 1 )5 76,5 50 0,512 
RHPUG4155 30 280 8 61 66 8 45 8,5 1}5 100 MB x 1,25 102 75A 0,535 

RHPUG 188 

COD NEVVTON A B ±1 c± 1 D E F G L M Q (0) v (0) Kg MIN MAX 
RHPUG3188 50 500 10 75 80 1 o ,5 58 8,5 3}5 100 M1 O x 1,5 76,5 50 0,8 
RHPUG4188 50 500 10 75 80 10,5 58 8,5 3?5 100 M1 O x 1,5 102 75A 0,823 

RHPUG 277 

COD NEVVTON A B ±1 c± 1 D E F G L M Q (0) v (0) Kg MIN MAX 
RHPUG3277 80 1200 12 102 11 o 15 78 1 o ,5 4}5 130 M12 x 1 }5 76,5 50 1,905 
RHPUG4277 80 1200 12 102 11 o 15 78 1 o ,5 4?5 130 M12 x 1 }5 102 75 4 l 1,928 

• 

Parma ITALY 

.! ~ 

RHPUG 111 

eOD MIN MAX A 8 ± 1 C ± 1 D E F G L M Q (0) V (0) Kg 

RHPUG3111 10 120 8 48 52 6 35 8, O 75 80 MB x 1 76 50 O, 
RHPUG4111 10 120 8 48 52 6 35 8, 075 80 MB x 1 102 75 O, 

RHPUG 155 

eOD MIN MAX D E F G L M Kg 

RHPUG3155 30 280 8 61 66 8 45 8, 1,75 100 M8 x 1, 76 50 O, 
~RH~P~UG~41~55~~30~~28~0~8~~6_1~6~6~8~_4~5~8~,~1~75~1~00~M~8~x1~, ~1~02~75~~O,~ 

eOD 

RHPUG3188 
RHPUG4188 

NEWTON 
MIN MAX A 
50 500 
50 500 

10 
10 

B±1 C±1 D 

75 80 10 
75 80 10 

eOD MIN MAX A B ± 1 C ± 1 D 

RHPUG3277 80 1200 12 102 110 15 
RHPUG4277 80 1200 12 102 110 15 

RHPUG 

E 

58 
58 

RHPUG 277 

F 

8, 
8, 

E F 

78 10 
78 10 

G L M Q (0) V (0) Kg 

375 100 M10 x 1, 76 50 O 
3 75 1 00 M 1 O X 1, 1 02;-t-":7;;:-5 -;-t-~O:;-;;, :;;;; 

G L M Q (0) V (0) Kg 

4 75 130 M12 x 1 76 50 
4 75 130 M12 x 1 75 102 75 

Fisatech s.r.o., Hlavná 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk



ZE 
PARMA - :tTALY 

RHR111AC- RHR155AC- RHR188AC -RHR277AC 

CON ROCCHETTO DENTATO 
WITH SPROCKET , 
AVEC PIGNON DENTE .... , 
CON PINON DENTADO 

NEVVTON 

•• .. 
\ ;. 
~ •.l .. " \ •. 

·:. l. 
~-.l . •• 
\;.. •• ':l. .. " 
\l \ •. ·;. i 

\ ; 
.. •l. .. ~ 
\ ; 

PASSO CATENA 
CHAIN PITCH 

• 

COD PASO DE LA CADENA MIN MAX PAS DE LA CHAINE 
RHR111 AC38S 3/8" x 7 f32" 0681 

\ 

RHR111 AC38D 10 120 3/8" x 7 f32" 0682 
RHR111 AC12S 1/2" x 5/16" OB81 
RHR111 AC12D 1/2" x 5/16" OB82 

+TE 
DENTI TEMPRATI 
HARDENED TEETH , 
DENTS TREMPEES 
DIENTES TEMPLADOS 

RHR 111 AC 
DENTI 
TEETH A 8 ± 1 c ± 1 D DIENTES 
DENTS 

21 8 48,5 52,5 6 
21 8 4B,5 52,5 6 
16 B 4B,5 52,5 6 
16 8 4B,5 52,5 6 

E F 

35 8,5 
35 8,5 
35 B,5 
35 B,5 

• 

• • 
l 
• • 

• • 
l 
• • 

G 

0.75 
0.75 
0.75 
0.75 

N 

L 

80 
BO 
BO 
BO 

l 
• • 

r-"1 l ..--. .• 
........ r-#.~ ...... i ...... 

··-11---11- • ......... :. ........,.,, ...... 
• • '. l l . . a--·--.. 1--1 . . ............ . .. ~ . l ,=Mi ~ . 1--1! 

=: :! - l 

~::! ~! 
~: :l 1--1 ! 11---1 

. . 

M 

M6 x 1 
M6 x 1 
M6 x 1 
M6 x 1 

• 
1--11 ...... 

• • 

~:~ 
l __,: ....... 

N 

M12x1.75 
M10x1,5 

M12x1.75 
M10x1,5 

• • 

l 

o 

7 
6 
7 
6 

+ TE:DENTI TEMPRATI-HARDENED TEETH-DENTS TREMPEES-DIENTES TEMPLADOS 

RHR111 AC38STE 1 O 
RHR111 AC12STE 

3/8" x 7 f32" 0681 120 1/2" x 5/16" OB81 
21 
16 

B 
8 

4B,5 52,5 
4B,5 52,5 

6 
6 

35 
35 

B,5 0.75 BO M6 x 1 M 12 x 1 ? 5 7 
B,5 0.75 BO M6 x 1 M12x1.75 7 

p 

9,1 
11 
9,1 
12,5 

9,1 
9,1 

Kg 

0,391 
0,51B 
0.415 
0,592 

0,391 
0.415 

Parma ITALY 

RHR111AC - RHR155AC - RHR188AC -RHR277AC 

CON ROCCHETTO DENTATO 
WITH SPROCKET 

• 
AVEC PIGNON DENTE 
CON PINÒN DENTADO 

NEVlfTON 
PASSO CATENA 

+TE 
DENTI TEMPRATI 
HARDENED TEETH 
DENTS TREMPÉES 
DIENTES TEMPLADOS 

RHR 111 AC 

r 
L 

COD A B ± 1 C ± 1 D E F G L M N o P Kg 

11 AC38S 
11 AC38D 

11 AC38STE 
11 AC12STE 

MIN MAX 

10 120 

10 120 

I 

318" x 7 m" 06B1 21 
318" x 7m" 06B2 21 

• 

M6 x 1 ..::.;M-,=12:,::-x1~j----',_ 
:-+--:::M6 x 1 M1 0x1 

x 
x 

+ TE:DENTI TEMPRATI-HARDENED TEETH-DENTS TREMPEES-DlENTES TEMPLADOS 

-=3"718-,-:" x.:...:7,:,:f3",,2 "~0-=-=6 B:..;.1 +--=2-:-1 -+-,-:8~ ---'7' ::-+::5.::.!2 =+--7-6 -+--=-=35,- --,8:..0.:' '-+-''-'':7+--::8-=-0 +-Mc..:;6,-,x,-,1_ ..::.;M.;..:12:,::-x 1,"",=-+---=7_ 
112" x 5/16" 08B1 16 8 52 6 35 8, ;";,,,o,..;8-.0 ....... M6.x;.;1_ M12x1 ....... _7_ 

9,1 
11 

9 1 
9,1 

Fisatech s.r.o., Hlavná 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk



RHR 155 AC 

NEWTON 
PASSO CATENA DENTI 

CHAIN PITCH TEETH COD A 8 ± 1 c± 1 D E F G L M N o p Kg PASO DE LA CADENA DIENTES MIN MAX PAS DE LA CHAINE DENTS 
RHR155AC38S 3/8" x 7 f32" 0681 21 8 61 66 8 45 815 1.75 100 MB x 1125 M12x1.75 7 911 01558 
RHR155AC38D 3/8" x 7 f32" 0682 21 8 61 66 8 45 815 1.75 100 MB x 1125 M10x115 6 1 1 01685 
RHR155AC12S 1/2" x 5116" 0881 16 8 61 66 8 45 815 1.75 100 MB x 1125 M12x1.75 7 911 01582 
RHR155AC12D 1/2" x 5116" 0882 16 8 61 66 8 45 815 1.75 100 MB x 1125 M1 Ox115 6 1215 01759 
RHR155AC58S 30 280 518" x 3/B" 1081 17 8 61 66 8 45 815 1 .75 100 MB x 1125 M12x1.75 7 911 0.778 
RHR155AC58D 518" x 3/8" 1082 17 8 61 66 8 45 815 1.75 100 MB x 1125 M12x1.75 7 1513 11271 
RHR155AC34S 314" x 7116" 1281 15 8 61 66 8 45 815 1.75 100 MB x 1125 M12x1.75 7 911 01887 
RHR155AC34D 314" x 7116" 1282 15 8 61 66 8 45 815 1.75 100 MB x 1125 M12x1.75 7 1716 11523 
RHR155AC1 S 1" x 17 m\m 1681 12 8 61 66 8 45 815 1.75 100 MB x 1125 M12x1 75 l 7 11 13 11168 
RHR155AC114S 1"1 l 4 x 314 Il 2081 9 8 61 66 8 45 815 1.75 100 MB x 1125 M12x1 .75 7 1113 11133 

• 
+ TE:DENTI TEMPRATI-HARDENED TEETH-DENTS TREMPEES-DIENTES TEMPlADOS 

RHR155AC38STE 3/8" x 7 f32" 0681 21 8 61 66 8 45 815 1.75 100 MB x 1125 M12x1.75 7 911 01558 
RHR155AC12STE 1/2" x 5116" 0881 16 8 61 66 8 45 815 1 .75 100 MB x 1125 M12x1 .75 7 911 01582 
RHR155AC58STE 30 280 518" x 3/8" 1081 17 8 61 66 8 45 815 1.75 100 MB x 1125 M12x1.75 7 911 0.778 
RHR155AC34STE 314" x 7116" 1281 15 8 61 66 8 45 815 1.75 100 MB x 1125 M12x1.75 7 911 01887 
RHR155AC1 STE 1" x 17 m\m 1681 12 8 61 66 8 45 815 1.75 100 MB x 1125 M12x1.75 7 1113 11168 

RHR 188 AC 

NEWTON 
PASSO CATENA DENTI 

CHAIN PITCH TEETH COD A 8 ± 1 c ± 1 D E F G L M N o p Kg PASO DE LA CADENA DIENTES MIN MAX PAS DE LA CHAINE DENTS 
RHR188AC38S 3/8" x 7 f32" 0681 21 10 75 80 1015 58 815 3.75 100 M10 x 115 M12x1.75 7 911 0185 
RHR188AC38D 3/8" x 7 f32" 0682 21 10 75 80 1015 58 815 3.75 100 M10 x 115 M10x115 6 1 1 01976 
RHR188AC12S 1/2" x 5116" 0881 16 10 75 80 1015 58 815 3.75 100 M10 x 115 M12x1.75 7 911 01875 
RHR188AC12D 112" x 5116" 0882 16 10 75 80 1015 58 815 3.75 100 M10 x 115 M1 Ox115 6 1215 1105 
RHR188AC58S 50 500 518" x 3/8" 1081 17 10 75 80 1015 58 815 3.75 100 M10 x 115 M12x1.75 7 911 11068 
RHR188AC58D 518 Il x 3/8" 1082 17 10 75 80 1015 58 815 3.75 100 M10 x 115 M12x1.75 7 1513 11562 
RHR188AC34S 314" x 7116" 1281 15 10 75 80 1015 58 815 3.75 100 M10 x 115 M12x1.75 7 911 11178 
RHR188AC34D 314" x 7116" 1282 15 10 75 80 1015 58 815 3.75 100 M10 x 115 M12x1.75 7 1716 11811 
RHR188AC1 S 1" x 17 m\m 1681 12 10 75 80 1015 58 815 3.75 100 M10 x 115 M12x1.75 7 11 13 1.458 
RHR188AC114S 1"1 l 4 x 3/4 Il 2081 9 10 75 80 1015 58 815 3.75 100 M10 x 115 M12x1.75 7 11 13 1.422 

, 
+TE: DENTI TEMPRA TI-HARD ENEO TEETH-DENTS TREMPEES-DIENTES TEMPlADOS 

RHR 188AC38STE 3/8" x 7 f32" 0681 21 10 75 80 1015 58 815 3.75 100 M10 x 115 M12x1 .75 7 911 0185 
RHR188AC12STE 1/2" x 5/16" 0881 16 10 75 80 1015 58 815 3.75 100 M10 x 115 M12x1.75 7 911 01875 
RHR 188AC58STE 50 500 518 Il x 3/8" 1081 17 10 75 80 1015 58 815 3.75 100 M10 x 115 M12x1.75 7 911 11068 
RHR188AC34STE 3/4" x 7/16" 1281 15 10 75 80 1015 58 815 3.75 100 M10 x 115 M12x1.75 7 911 11178 
RHR188AC1 STE 1" x 17 m\m 1681 12 10 75 80 1015 58 815 3.75 100 M10 x 115 M12x1.75 7 1113 1.458 

RHR 277 AC 

NEWTON 
PASSO CATENA DENTI 

CHAIN PITCH TEETH COD A 8 ± 1 c ± 1 D E F G L M N o p Kg PASO DE LA CADENA DIENTES MIN MAX PAS DE LA CHAINE DENTS 
RHR277 AC38S 3/8" x 7 f32" 0681 21 12 102 110 15 78 1015 4.75 130 M12 x 1.75 M12x1.75 7 911 11955 
RH R277 AC38D 3/8" x 7 f32" 0682 21 12 102 110 15 78 1015 4.75 130 M12 x 1.75 M1 Ox1 15 6 1 1 2108 
RHR277 AC12S 1/2" x 5/16" 0881 16 12 102 110 15 78 1015 4.75 130 M12 x 1.75 M12x1.75 7 911 11979 
RHR277 AC12D 1/2" x 5/16" 0882 16 12 102 110 15 78 1015 4.75 130 M12 x 1.75 M10x115 6 1215 21155 
RHR277 AC58S 518" x 3/B" 1081 17 12 102 110 15 78 1015 4.75 130 M12 x 1.75 M12x1.75 7 9,1 2,175 
RHR277 AC58D 80 1200 518" x 3/B" 1082 17 12 102 110 15 78 1015 4.75 130 M12 x 1.75 M12x1.75 7 1513 21662 
RHR277 AC34S 3/4" x 7/16" 1281 15 12 102 110 15 78 1015 4.75 130 M12 x 1.75 M12x1.75 7 911 21285 
RHR277 AC34D 3/4" x 7/16" 1282 15 12 102 110 15 78 1015 4,75 130 M12 x 1.75 M12x1 .75 7 17,6 2,91 
RHR277AC1 S 1" x 17 m\m 1681 12 12 102 110 15 78 1015 4.75 130 M12 x 1,75 M12x1.75 7 1113 21566 
RHR277 AC114S 1"1/4 x 3/4 Il 2081 9 12 102 110 15 78 1015 4 75 l 130 M12 x 1.75 M12x1.75 7 11 13 2153 
RHR277 AC112S 1"1/2 x 1" 2481 9 12 102 110 15 78 1015 4.75 130 M12 x 1.75 M12x1.75 7 1318 3109 
RHR277 AC134S 1"3/4 x 1"1 /4 2881 9 12 102 110 15 78 10,5 4.75 130 M12 x 1.75 M12x1 .75 7 4109 

• 
+TE:DENTI TEMPRATI-HARDENED TEETH-DENTS TREMPEES-DIENTES TEMPlADOS 

RHR277 AC38STE 3/8" x 7 f32" 0681 21 12 102 110 15 78 1015 4.75 130 M12 x 1.75 M12x1.75 7 911 1 1955 
RHR277 AC12STE 1/2" x 5/16" 0881 16 12 102 110 15 78 1015 4.75 130 M12 x 1.75 M12x1.75 7 911 11979 
RHR277 AC58STE 80 1200 5/8" x3/8" 1081 17 12 102 110 15 78 1015 4,75 130 M12 x 1.75 M12x1.75 7 9 l 1 21175 
RHR277 AC34STE 3/4 Il x 7/16" 1281 15 12 102 110 15 78 1015 4.75 130 M12 x 1.75 M12x1.75 7 911 21285 
RHR277 AC1 STE 1" x 17 m\m 1681 12 12 102 110 15 78 1015 4.75 130 M12 x 1.75 M12x1 .75 7 18 8 l 21566 

RHR 155 AC 

NEwrON 
PASSO CATENA DENTI 

COD 
PASO DE LA CADENA DIENTES 

A 8 ± 1 C ± 1 D E F G L M N O P Kg 
MIN MAX 

PAS DE LA 

RHR155AC38S 3/8" x 7 f32" 0681 21 8 61 66 8 45 100 M8 x 1 , M12x1 , 9,1 
R x 7 f32" 0682 8 8 45 M8 x 1, M1Ox1 11 

0882 16 8 

3D 280 
1 
1082 17 8 61 66 7 
1 1 7 

3/4" x 7/16" 1282 15 8 7 
1 x m\m 1 

, 
+TE:DENTI TEMPRATI-HARDENED TEETH-DENTS TREMPEES-DIENTES TEMPLADOS 

RHR155AC38STE M12x1, =+- -+ c':-3/8" x 7 f32" 0681 
1 

RHR155AC58STE 3D 280 1081 17 
R 
RHR155AC1 STE 

COD 

RHR188AC114S 

NEwrON 

MIN MAX 

1 
1" x 17 m\m 1681 

CHAIN PITCH 

PASO DE LA CADENA 

PAS DE LA 

12 

16 

8 

-'-_r---'R;.;.;.HR 188 AC 

A 8±1 C± 1 

1 
1 

D 

5/8" x 3/8" 1081 17 10 75 
50 500 r--==-'-'-7::-::--1-'-::=-+--7::-

7 
---t---'-::--+-::::,-

80 1 
1 
1 +--:-15--t_ 1 D-+-

1"1/4 x3/4" 2081 9 10 1 

E F G L M 

, 
+TE:DENTI TEMPRATI-HARDENED TEETH-DENTS TREMPEES-DIENTES TEMPLADOS 

x 1 

M12x1 , 7 

N O p Kg 

RHR188AC12STE 112" x 5/16" 0881 16 10 75 80 1 

COD 

HR277AC38S 
RHR277 AC38D 
R AC1 
RHR277 AC12D 

HR277AC34D 
RHR277AC1S 
RHR277 14S 

HR277 AC112S 

RHR277 AC38STE 

HR277 AC58STE 
HR277 AC34STE 

RHR277 AC1 STE 

50 500 1 7 1 
3/4" x 7/16" 1281 15 10 1 r. -t----:- ,----j-

NEwrON 

PASO DE LA CADENA DIENTES A 
MIN MAX f-

PASSO CATENA DENTI 
CHAIN PITCH 

N O G 8±1 C± 1 D E F L M p Kg 

3/8"x7f32" 0681 21 12 102 110 15 78 10 130 M12x1, 7 9,1 
3/8"x7f32" 0682 21 12 102 110 15 
112" x 5/1 -:+:::08:::8:7-1 -j--'1;;:--t---:-::-+1c:=- 11 15 

78 10 
78 10 

M10x1 6 11 
M1 2 x 1 :;a-~M-;-:12;:;x;-:-1 ,:;?t~7-tr9;-;, l' -:-': == 

130 

112" x 5/16" 0882 16 12 102 110 15 78 10 130 M1ox1 6 1 

80 1200 +--:-17--t_12--t-;-
x 1 

130 M12x1, 7 17 
130 M12x1, 7 11-=-
130 M12 x 1 :;a-ijM1~2~x1;-",~-7~r.1~1 ---=:::= 
130 M12x1 7 1 

3/4" x 7/16" 1282 15 12 102 110 15 
r.17.-" -'-x -7:17=-'-m"'-:\-'-m-r-1:-::6-=8 7-1 +--:-1-=-2 ---t---'-:12:--+-:-1 =02:- 11 D 15 

f--'-1 "",1/-,:4 ,:.:.x .:::3/-,:4 '_' 1-'2:.::0-=-8.:...1 +--,9,--+-.:..:12:--+-,1.::.:o2=- 11 D 15 
1-:-:'1 =-," 1""I2,-,x,:-,1-,-" -:-1-'2:::4-=-8.:...1 +-",-:9:---+--,-:12:--+-,1.::.:02:- 11 D 15 

78 10 
78 10 
78 10 
78 10 

, 

+ TE:DENTI TEMPRA TI-HARDENED TEETH-DENTS TREMPEES-DIENTES TEMPLADOS 

3/8" x 7 f32" 0681 21,----j_12--t-;- M1 2 x 1 M1 2x1 , =+- -+ 
x 

80 1200 5/8" x 3/8" 1081 17 12 102 --:1-,-:10:-+--,-:15,-- -,7==8--+--,17'0 =- -;~h13;;:;o---t::;:;':;-'::-;-':;~~::;-':;;H-77---t-,:9;,:;-,1 ---=-'=== 
1--:3::-/.:..4 "-:,:x:-:-7.:..:/1.::.6'_' 1-1;::2-:08:--1 -/--.;1,=-+-:-:12:-+-.;1:::02:--- -,1:-:-10::-+_1;::5 __ ",78:-+-::1 o~ 130 9~~~~7-t~9~, 10- _~:= 
1" x 17 m\m 1681 12 12 102 110 15 78 10 130 M12 x 1 7

' M12x1, 7 1 

Fisatech s.r.o., Hlavná 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk



CON ROCCHETTO DENTATO 
WITH SPROCKET H 

• 
AVEC PIGNON DENTE 
CON PliilòN DENTADO 

NEwrON CHAIN PITCH eoo 
MIN MAX PAS DE LA 

11 RS38 3/8" x 7f32" 0681 15 
11 R038 3/8" x 7f32" 0682 15 
11 R138 10 120 

3/8" x 7f32" 0683 15 
11 RS12 112" x 5/16" 0881 15 
11 R012 112" x 5/16" 0882 15 
11 RT12 112" x 5/16" 0883 15 

- - Parma 

RHR111 RS-RD-RT \ RHR155 RS-RD-RT 
RHR188 RS-RD-RT \ RHR277 RS-RD-RT 

l' p • I 

DISTANZIALE 
SPACER 
ENTRETOISE 
DISTANCIADOR 

r 
L 

ITALY 

RHR 111 RS RD RT 
-r--- ""'---r--r--- ----r-- --..,...----r-- -"'T"'"-

A 8 ± 1 e ± 1 o E F G L M N o P Kg 

8 6 35 8 80 M6 x 1 Ml0xl 6 6, 
8 6 35 8 80 M6 x 1 Ml0xl 6 11 
8 6 35 8 80 M6 x 1 Ml0xl 6 1 
8 6 35 8 80 M6 x 1 Ml0xl 6 6, 
8 6 35 8 80 M6 x 1 Ml0xl 6 13, 
8 6 35 8 80 M6 x 1 Ml0xl 6 

Fisatech s.r.o., Hlavná 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk



RHR 155 RS RD RT 

NEWTON 
PASSO CATENA DENTI 

CHAIN PITCH TEETH COD A 8 ± 1 c± 1 D E F G L M N o p Kg PASO DE LA CADENA DIENTES MIN MAX PAS DE LA CHAINE DENTS 
RHR155RS38 318" x 7/32" 0681 15 8 61 66 8 45 815 1.75 100 MB x 1125 M1 Ox115 6 615 0.446 
RHR155RD38 318" x 7/32" 0682 15 8 61 66 8 45 815 1.75 100 MB x 1.25 M1 Ox1 15 6 1115 01513 
RHR155RT38 318" x 7/32" 0683 15 8 61 66 8 45 815 1.75 100 MB x 1125 M10x115 6 1615 01578 
RHR155RS12 1(2" x 5/16" 0881 15 8 61 66 8 45 815 1.75 100 MB x 1125 M10x115 6 615 0152 
RHR155RD12 1(2" x 5/16" 0882 15 B 61 66 B 45 815 1.75 100 MB x 1.25 M10x1 15 6 13.45 01662 
RHR155RT12 1(2" x 5/16" 0883 15 8 61 66 8 45 85 l 1.75 100 MB x 1125 M10x115 6 20.4 01805 
RHR155RS58 518" x 318" 1081 15 8 61 66 8 45 815 1.75 100 MB x 1125 M12x1.75 7 815 0167 
RHR155RD58 30 280 518" x 318" 1082 15 B 61 66 B 45 815 1.75 100 MB x 1125 M12x1.75 7 16.75 01966 
RHR155RT58 518" x 318" 1083 15 8 61 66 8 45 815 1.75 100 MB x 1125 M12x1.75 7 25 11251 
RHR155RS34 3/4 Il x 7/16" 1281 15 B 61 66 8 45 815 1.75 100 MB x 1125 M12x1.75 7 815 01868 
RHR155RD34 3/4 Il x 7/16" 1282 15 8 61 66 8 45 815 1.75 100 MB x 1.25 M12x1.75 7 18125 11381 
RHR155RT34 3/4" x 7/16" 1283 15 8 61 66 8 45 815 1.75 100 MB x 1125 M12x1.75 7 28 11875 
RHR155RS1 1" x 17 m\m 1681 13 8 61 66 8 45 815 1.75 100 MB x 1125 M12x1.75 7 10 11286 
RHR155RD1 1" x 17 m\m 1682 12 8 61 66 8 45 815 1.75 100 MB x 1125 M12x1.75 7 2713 11963 
RHR155RT1 1" x 17 m\m 1683 12 8 61 66 8 45 815 1.75 100 MB x 1125 M12x1.75 7 4313 21773 
RHR155RD114 1"1/4 x 3/4 Il 2082 9 8 61 66 8 45 815 1.75 100 MB x 1125 M12x1.75 7 2915 11923 

RHR 188 RS RD RT 

NEWTON 
PASSO CATENA DENTI 

CHAIN PITCH TEETH COD A 8 ± 1 c± 1 D E F G L M N o p Kg PASO DE LA CADENA DIENTES MIN MAX PAS DE LA CHAINE DENTS 
RHR188RS38 318" x 7/32" 0681 15 10 75 BO 1015 58 815 3 75 l 100 M10 x 115 M1 Ox115 6 615 0.735 
RHR188RD38 318" x 7/32" 0682 15 10 75 BO 1015 58 815 3.75 100 M10 x 115 M10x115 6 1115 018 
RHR18BRT38 318" x 7/32" 0683 15 10 75 80 1015 58 815 3.75 100 M10 x 115 M1 Ox115 6 1615 01866 
RHR188RS12 1(2" x 5/16" 0881 15 10 75 80 1015 58 815 3.75 100 M10 x 115 M1 Ox115 6 615 01808 
RHR188RD12 1 (2" x 5/16" 0882 15 10 75 80 1015 58 815 3.75 100 M10 x 115 M10x115 6 13.45 0195 
RHR188RT12 1 (2" x 5/16" 0883 15 10 75 80 1015 58 85 l 3.75 100 M10 x 115 M10x115 6 20.4 11096 
RHR1BBRS58 518" x 318" 1081 15 10 75 80 1015 58 815 3.75 100 M10 x 115 M12x1.75 7 815 0197 
RHR18BRD5B 50 500 518" x3/8" 1082 15 10 75 80 1015 58 815 3.75 100 M10 x 115 M12x1.75 7 16.75 1.253 
RHR188RT58 518" x 318" 1083 15 10 75 80 1015 58 815 3.75 100 M10 x 115 M12x1.75 7 25 11542 
RHR18BRS34 3/4" x 7/16" 1281 15 10 75 80 1015 58 815 3.75 100 M10 x 115 M12x1.75 7 815 11168 
RHR18BRD34 3/4" x 7/16" 1282 15 10 75 80 1015 58 815 3.75 100 M10 x 115 M12x1.75 7 18125 1167 
RHR188RT34 3/4" x 7/16" 1283 15 10 75 80 1015 58 815 3.75 100 M10 x 115 M12x1.75 7 28 21166 
RHR188RS1 1" x 17 m\m 1681 13 10 75 80 1015 58 815 3.75 100 M10 x 115 M12x1.75 7 10 11588 
RHR188RD1 1" x 17 m\m 1682 12 10 75 80 1015 58 815 3.75 100 M10 x 115 M12x1.75 7 2713 2.26 
RHR188RT1 1" x 17 m\m 1683 12 10 75 80 1015 58 815 3.75 100 M10 x 115 M12x1.75 7 4313 31062 
RHR188RD114 1"1/4 x 3/4 Il 2082 9 10 75 80 1015 58 815 3.75 100 M10 x 115 M12x1.75 7 2915 21208 

RHR 277 RS RD RT 

NEWTON 
PASSO CATENA DENTI 

CHAIN PITCH TEETH A 8 ± 1 c± 1 D F M N Kg COD E G L o p 
PASO DE LA CADENA DIENTES MIN MAX PAS DE LA CHAINE DENTS 

RHR277RS12 1(2" x 5/16" 0881 15 12 102 110 15 78 1015 4.75 130 M12 x 1.75 M10x115 6 615 11914 
RHR277RD12 1(2" x 5/16" 0882 15 12 102 110 15 78 1015 4.75 130 M12 x 1.75 M1 Ox115 6 13.45 21055 
RHR277RT12 1(2" x 5/16" 0883 15 12 102 110 15 78 1015 4.75 130 M12 x 1.75 M1 Ox115 6 20.4 212 
RHR277RS58 518" x 318" 1081 15 12 102 110 15 78 1015 4.75 130 M12 x 1.75 M12x1.75 7 815 21074 
RHR277RD58 518" x 3/8" 1082 15 12 102 110 15 78 1015 4.75 130 M12 x 1.75 M12x1.75 7 16.75 2136 
RHR277RT58 5/B" x318" 1083 15 12 102 110 15 78 1015 4.75 130 M12 x 1.75 M12x1.75 7 25 21647 
RHR277RS34 3/4" x 7/16" 1281 15 12 102 110 15 78 1015 4.75 130 M12 x 1.75 M12x1.75 7 815 21273 
RHR277RD34 80 1200 3/4" x 7/16" 1282 15 12 102 110 15 7B 1015 4.75 130 M12 x 1.75 M12x1.75 7 18125 2.774 
RHR277RT34 3/4" x 7/16" 1283 15 12 102 110 15 78 1015 4.75 130 M12 x 1.75 M12x1.75 7 28 3127 
RHR277RS1 1" x 17 m\m 1681 13 12 102 110 15 78 1015 4.75 130 M12 x 1.75 M12x1.75 7 10 21693 
RHR277RD1 1" x 17 m\m 1682 12 12 102 110 15 78 1015 4.75 130 M12 x 1.75 M12x1.75 7 2713 31366 
RHR277RT1 1" x 17 m\m 1683 12 12 102 110 15 78 1015 4.75 130 M12 x 1.75 M12x1.75 7 4313 41167 
RHR277RD114 1"1 /4 x 3/4 Il 2082 9 12 102 110 15 78 1015 4.75 130 M12 x 1.75 M12x1.75 7 2915 31313 
RHR277RD112 1"1f2 x 1" 2482 9 12 102 110 15 78 1015 4.75 130 M12 x 1.75 M12x1.75 7 4015 4.441 
RHR277RD134 1"3/4 x 1"1/4 2882 9 12 102 110 15 78 1015 4.75 130 M12 x 1.75 M12x1.75 7 4816 6.485 

RHR 155 RS RD RT 

NEWTON 
PASSO CATENA DENTI 

CHAIN PITCH TEETH 
L COD A 8 ± 1 C ± 1 D E F G M N O P Kg 

PASO DE LA CADENA DIENTES 
MIN MAX 

PAS DE LACHAiiiiE DENTS 
RHRi55RS38 3/8" x 7 f32" 068 15 8 6 66 8 45 8,5 1 ,f~ 100 M8x1 ,25 M1oxl,5 6 6,5 D, 
RHR155RD38 3/8" x 7 f32 " 0682 15 8 61 66 8 45 

-Ps 
1,75 100 M8 x 1,25 M1ox1,5 6 11 0,5L 

RHR155RT38 3/8" x 7 f32" 0683 15 8 61 66 8 45 1 ,f~ 100 M8x1,25 M1ox1,5 6 D, 
RHR155RS12 112" x 5/16" 0881 15 8 61 66 8 45 8,~ 1 ,f~ 100 M8x1,25 M1ox1,5 6 
RHR155RD1 2 112" x 5/16" 0882 15 8 61 66 8 45 

-Ps 
1,75 100 M8x1 ,25 M1ox1,5 6 13,45 D, 

RHR155RT12 112" x 5/16" 0883 15 8 61 66 8 45 1 ,f~ 100 M8x1,25 M1ox1,5 6 

* 
d, 

I RHR155RS58 5/8" x 3/8" 1081 15 8 61 66 8 45 8,5 1 ,f~ 100 M8x1 ,25 M12x1 ,7! 7 
RHR155RD58 

3D 280 
5/8" x 3/8" 1082 15 8 61 66 8 45 1 ,75 100 M8x1 ,25 M12x1 ,75 7 16,75 D, 

RHR155RT58 5/8" x 3/8" 1083 15 8 61 66 8 45 1 ,f~ 100 M8x1,25 M12x1 ,f~ 7 25 1,25 
IRHR155RS34 3/4" x 7/16" 1281 15 8 61 66 8 45 8,5 1 ,r ~ 100 M8x1,25 M12x1 ,75 7 8,5 D, 
RHR155RD34 3/4" x 7/16" 1282 15 8 61 66 8 45 1 ,75 100 M8x1 ,25 M12x1 ,75 7 18,25 1,381 1 
RHR155RT34 3/4" x 7/16" 1283 15 8 61 66 8 45 1 ,f~ 100 M8x1,25 M12x1 ,f~ 7 28 1 , 
RHR155RS1 1" 17 m\rn 1681 13 8 6 66 8 45 1,f~ 100 M8x1 ,25 M12x1 ,75 7 10 1 , 
RHR155RD1 1" x 17 m\m 1682 12 8 61 66 8 45 1 ,75 100 M8x1 ,25 M12x1 ,75 7 2~ 1, 
RHR155RT1 1" x 17 m\m 1683 12 8 61 66 8 45 100 M8x1,25 M12x1 ,f~ 7 1 ,f~ * 2, 
RHR1§§EQ114 1"1/4 x 3/4" 2082 9 ~ J. 66 ~ 45 .!? 1 100 MB)( 1 ,25 M12x1l2. 7 29, 1 , 

_______ ",,--~~~_~=~_rR;.;,;HR.;..;188 RS RD RT --r-- --r----.,----r---,...--"""T'"---
PASSO CATENA DENTI 

NEWTON CHAIN PITCH TEETH 
PiiSoi5E LA""CiiDEiiiA" I D"'iEiiiTEs"'-l A 

MIN MAX PAS DE LACHAiiiiE DENTS 

COD M N O 8±1 C±1 D E F G L P Kg 

"=RH-=R=18=8R=S3=8- 1-'3::..=/8,--" ,,-,x 7,:..:/3:=..2'--\' ....:.06=-=8:..:...1 +-...:..:15=----1----'-'1o=---+--':'75=__ 80 _5=.:.8-+-8:..!.:1,,5,-- 3,f~ 100 M10 x 12 M10x1,5 6 6,5 ---=0,-,,:, = 
IRHR188RD38 1-'3::..=/8:::-" --,x 7,:..:/3,=":2'--\' --:-06=-=8,=":2+-..,..;15:----1--:-'10=---+--::-75:--- 80 58 8,5 3,f~ 100 M10 x 14 M10x1,5 6 114 D, 
RHR188RT38 r:3::.:/8é::-"::..ex 7:-::/3=2':--1' ~06:;,:8:=-3-!-...:..:15:---1---'-:1o:-+--:::75:-- 80 10, 58 3,75 100 M10 x 1 M1ox1,5 6 16, ---:o~, = 
RHR188RS12 1-'1:.;..:12,--" ,,-,x 5::..;/1..::.,6'--\' ....:.08=-=8:..:...1 +-..,..;15=----1--:-'1o=---+--':'75=__ 80 58 3,f~ 100 M10 x 12 M1ox1,5 6 6,5 ---=0=, =-=-
RHR188RD12 1-'1,:..:12,,:-" --,x 5:-:-,/1-,:,6'--\' --:-08=-=8,=":2+-..,..;15:----1--:-'10=---+--::-75:--- 80 58 8,5 3,f~ 100 M10 x 1,5 M10x1,5 6 13,45 ---,-":: = 
RHR188RT12 1-1:;:12,::::-" ,,-,x 5:;:-:/1::::6'--/' ....::08:;,:8:=-3-!-...:..:15:---1---'-:1o:-+--:::75:-- 80 10, 58 3,75 100 M10 x 1 M1ox1,5 6 
RHR188RS58 i----=',5/8=-."-,,-x .:::..3/8:..,."-+-,-10=-=8,,:-1 +-..,..;15=----1--:-'1o=---+--':'75=__ 80 58 3,f~ 100 M10 x 14 M12x1 ,f~ 7 
RHR188RD58 50 500 5/8" x 3/8" 1082 15 10 75 80 58 8,5 3,f~ 100 M10 1,5 M12x1,75 7 16,75 --.:1~, ~ 
RHR188RT58 5/8" x 3/8" 1083 15 10 75 80 10, 58 ~ 3,75 100 M10 x 14 M12x1,75 7 25 -,1'-'7':::: 
RHR188RS34 1-'3::.,./4,--" --,x 7---:/1..::.,6'--\' ....;.12=-=8,,:-1 +-..,..;15=----1--:-'1o=---+--':'75=__ 80 ~ 58 82 3,f~ 100 M10 x 14 M12x1 ,f~ 7 8,5 1, 
RHR~,:,--- 3/4" x 7/~ 1282 15 10 75 80 1 ~o "\ 100 M10 x 1 M12x1 ,75 7 18,25 1 =-
RHR188RT34 r.:3::--/4,-:":::ex 7..:..;/1..::.,6'--/' ....:.12:;,:8:=-3-!-...:..:15:---1---'-:1o:-+--:::75:-- 80 ~~~t--'77---t-~28~ ---=2,-,::, = 
RHR188RS1 1--1.....;" x,-1.;,-7 =m\.c:..m-+-,-16=-=8,,:-1 +-..,..;13=----1--:-'1o=---+--':'75=__ 80 ~ 58 8,5 3,f~ 100 M10 x 14 M12x1 ,f~ 7 10 _1...c:.' =-=-
RHR188RD1 1--'1.,...:" x:...:1-=-7.:.:.:m\.c:..m--l--'-16:;,:8=-2-!-...:..:12:---1---'-:1o:-+--:::75:-- 80 10, 58 ~ 3 100 M10 x 1 M12x1,75 7 2~ 2 = 
RHR188RT1 r1-;-:;." x;-;:1:,-7.:.;cm\::-;;m:-t-;:16:;,:8=-3-!---::12=----1---'-:1o:-+--:::75:-- 80 1 58 ~ 3,75 100 M10 x 14 M12x1,f':J 7 l' ---:3~ 
RHR188RD114 _-'-_ .... 1;..."1;.../4;...x..;;,3/;...4' .... ' ..;;,20.;.;;8..;;,2..1-..;;,9_.....,;.;10'-1-.;.,75;.... 80 3,f~ 100 M10 x 12 M12x1 ,f~ 7 

RHR 277 RS RD RT 

NEWTON 
PASSO CATENA DENTI 

CHAIN PITCH TEETH 
COD A 8 ± 1 C ± 1 D E F G L M N O P Kg 

PASO DE LA CADENA DIENTES 
MIN MAX 

PAS DE LACHAiiiiE DENTS 
RHR277RS12 112" x 5/16" 0881 15 12 102 110 15 78 10 4,75 130 M12 x ~ M10x1 ,5 6 6,5 1,91 
RHR277RD12 112" x 5/16" 0882 15 12 102 110 15 78 10,5 4,ftJ 6 13,45 2, 130 M12 x 1,751 M1ox1,5 
IR rlR277RT12 112" x 5/16" 0883 15 12 102 110 15 78 10,5 ,f~ 130 1M x 1 ,751 11J11 0~1 ,5 6 

* 
2, 

RHR277RS58 5/8" x 3/8" 1081 15 12 102 110 15 78 10 4,75 130 M12 x ~ M12x1,75 7 2, 
RHR277RD58 5/8" x 3/8" 1082 15 12 102 110 15 78 7 16,ftJ 10,5 4,ftJ 130 M12 x 1,751 M12x1,ftJ 

IR~ ~x~ 1083 15 12 102 110 15 10 4 130 1M x 1 M12x1 ,75 7 M', 
3/4" xi/16" RHR277RS34 1281 15 12 102 110 15 7 8,5 2, r e 

RHR277RD34 80 1200 3/4" x 7/16" 1282 15 12 102 110 15 78 10,5 4,ftJ 130 IM12 x 1,751 M12x1,ftJ 7 18,25 2, 
RHR277RT34 3/4" x 7/16" 1283 15 12 102 110 15 78 10 4 130 IM1; x 1 M12x1 ,75 7 28 C 

RHR277RS1 1" X 17 m\m 1681 13 12 102 110 15 78 7 10 2, 
RHR277RD1 1" X 17 m\m 1682 12 12 102 110 15 78 10,5 4,f~ 130 M12 x 1 ,751 M12x1 ,f~ 7 2~ 3, 

102 10 4,75 130 IM1; x ~ M12x1,75 RHR277RT1 1" X 17 m\m 1683 12 12 110 15 78 7 ~4, 
RHR277RD114 1"1/4 x 3/4" 2082 9 12 102 110 15 78 10,5 4,75 130 M12 x ~ M12x1,ftJ 7 ~3,3L 
RHR277RD112 1"1 12 x 1" 2482 9 12 102 110 15 78 10,5 4,f~ 130 IM12 x 1,751 M12x1,f~ 7 ~ 4, 
RHR277RD134 1 "3/4 x 1 "1 /4 2882 9 12 102 110 15 78 10 130 JM1; x 1 M12x1 , 7 4 6, 

Fisatech s.r.o., Hlavná 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk



ZE 
PARMA - :tTALY 

RHB111- RHB155- RHB188- RHB277 

CON ROCCHETTO DENTATO 
WITH SPROCKET , 
AVEC PIGNON DENTE - , 
CON PINON DENTADO 

•• • • . , \ 
\ ,~: ·. :~·· .. .. ,. . ,. .. . \ . 

' ~· ':. \\. .. ~~ .. '\ ~ .. ,~. 
\ ~· . ' 

·:.'~t .. . 
•• 

\ ;., ,. 
·:. -~ 
\ -~ '1· ·:. ·;, 

\ ;. 

l"'l 

' 
D 

H 

~ 

F === 

.. 
' ;;. . 

• • l ----1 
• • 

l 
-.- : --1 =Il 
l==:!~ 

,., 
Uj 

~ 

• l ........, 
1-- : ----1 

..... l ~ • 
• ...,__ l ----t 

~i~ 
' t::::::f . t:::::f l 

n 
v 

• 
l 

l ... -
l 
• • 

! 
• 
l 
: ... -
! 

T ,.. 
J. loJ 

:::::: 

• 
~ "'' 

D 

l 
~ 

7 

D 

• 

"' 
~ ~ 

A 

' ' .... , .. 

l 

~ 

Parma ITALY 

RHB111 - RHB155 - RHB188 - RHB277 

CON ROCCHETTO DENTATO 
WITH SPROCKET , 
AVEC PIGNON DENTE - , 
CON PINON DENTADO 

E\v'TON NE\v'TD~ .... 

I ----I 
• • 

I - : --.; 

---, D ,--

r :: 
L " 

Fisatech s.r.o., Hlavná 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk



RHB 111 

NEVVTON CATENA DENTI 
CHAIN PITCH TEETH COD A B ± 1 c± 1 D E F G H l L M N o p± 1 Q R T Kg PASO DE LA CADENA DIENTES MIN MAX PAS DE LA CHAINE DENTS 

RHB1 11 RS38 10 120 318" x 7/32" 0681 15 8 48,5 52,5 6 35 8,5 0.75 M10x1,5 9 BO M6 x 1 6,5 6 15,5 -21,5 2 45 RS 0,303 
RH81 11 RS12 112" x 5/16" 0881 15 8 48,5 52,5 6 35 8,5 0.75 M10x1,5 9 BO M6 x 1 6,5 6 15,5 -21,5 2 45 RS 0,376 

RHB 155 

NEVVTON 
PASSO CATENA DENTI 

CHAIN PITCH TEETH COD A 8 ± 1 c± 1 D E F G H l L M N o p Q R T Kg PASO DE LA CADENA DIENTES MIN MAX PAS DE LA CHAiNE DENTS 
RH8155RS38 318" x 7/32" 0681 15 8 61 66 8 45 8,5 1.75 M10x1,5 9 100 MB x 1,25 6,5 6 18,5 -34,5 2 55 RS 0.475 
RH8155AC38D 318" x 7/32" 0682 21 8 61 66 8 45 8,5 1.75 M10x1,5 18 100 MB x 1,25 6,5 6 23 -30 2 55 AC 0.711 
RH8155RS12 30 280 112" x 5/16" 0881 15 8 61 66 8 45 8,5 1.75 M10x1,5 9 100 MB x 1,25 6,5 6 18,5 -34,5 2 55 RS 0,548 
RH8155AC12D 112" x 5/16" 0882 16 8 61 66 8 45 8,5 1.75 M10x1,5 18 100 MB x 1.25 6,5 6 23-30 2 55 AC 0.785 
RH8155RS58 518"x318" 1081 15 8 61 66 8 45 8,5 1.75 M12x1.75 12 100 MB x 1,25 8 7 21,5 -30,5 2,5 55 RS 0.719 
RHB155RS34 3/4" x 7/16" 1281 15 8 61 66 8 45 8,5 1.75 M12x1.75 12 100 MB x 1,25 8 7 21,5 -30,5 2,5 55 RS 0,918 

RHB 188 

NEVVTON 
PASSO CATENA DENTI 

CHAIN PITCH TEETH COD A B ± 1 c± 1 D E F G H l L M N o p± 1 Q R T Kg PASO DE LA CADENA DIENTES MIN MAX PAS DE LA CHAiNE DENTS 
RH8188AC38S 318" x 7/32" 0681 21 10 75 BO 10,5 58 8,5 3.75 M12x1l5 18,2 100 M1 O x 1,5 8 7 23,6 -39.4 2,5 70 AC 0,897 
RH8188AC38D 318" x 7/32" 0682 21 10 75 BO 10,5 58 8,5 3.75 M10x1,5 18 100 M1 O x 1,5 6,5 6 22 -42 2 70 AC 1,012 
RHB188AC12S 112" x 5/16" 0881 16 10 75 BO 10,5 58 8,5 3.75 M12x1.75 18,2 100 M10x1,5 8 7 23,6 -39.4 2,5 70 AC 0,922 
RHB188AC12D 112" x 5/16" 0882 16 10 75 BO 10,5 58 8,5 3.75 M10x1,5 18 100 M1 O x 1,5 6,5 6 22 -42 2 70 AC 1,087 
RHB188AC58S 50 500 518" x318" 1081 17 10 75 BO 10,5 58 8,5 3.75 M12x1.75 18,2 100 M1 O x 1,5 8 7 23,6 -39.4 2,5 70 AC 1,117 
RHB188AC58D 518" x318" 1082 17 10 75 BO 10,5 58 8,5 3.75 M12x1l5 20 100 M10 x 1,5 8 7 24,5 -38,5 2,5 70 AC 1,603 
RHB188AC34S 3/4" x 7/16" 1281 15 10 75 BO 10,5 58 8,5 3.75 M12x1.75 18,2 100 M1 O x 1,5 8 7 23,6 -39.4 2,5 70 AC 1,225 
RH8188AC34D 3/4" x 7/16" 1282 15 10 75 BO 10,5 58 8,5 3l5 M12x1.75 24 100 M1 O x 1,5 8 7 26,5 -36,5 2,5 70 AC 1,85 
RHB188AC1S 1" x 17 m\m 1681 12 10 75 BO 10,5 58 8,5 3.75 M12x1l5 17 l 100 M1 O x 1,5 8 7 23,25 -39 l5 2,5 70 AC 1 ,5 
RH8188AC114S 1"1 /4 x3/4" 2081 9 10 75 BO 10,5 58 8,5 3.75 M12x1l5 17 l 100 M1 O x 1,5 8 7 23,25- 39 l5 2,5 70 AC 1.464 

, 
+ TE:DENTI TEMPRATI-HARDENED TEETH-DENTS TREMPEES-DIENTES TEMPLADOS 

RH8188AC38STE 318" x 7/32" 0681 21 10 75 BO 10,5 58 8,5 3l5 M12x1l5 18,2 100 M10 x 1,5 8 7 23,6- 39.4 2,5 70 A C· TE 0,897 
RH8188AC12STE 112" x 5/16" 0881 16 10 75 BO 10,5 58 8,5 3l5 M12x1l5 18,2 100 M1 O x 1,5 8 7 23,6- 39.4 2,5 70 A C· TE 0,922 
RH8188AC58STE 50 500 518"x318" 1081 17 10 75 BO 10,5 58 8,5 3l5 M12x1.75 18,2 100 M10x1,5 8 7 23,6- 39.4 2,5 70 A C· TE 1,117 
RHB1 BBAC34STE 3/4" x 7/16" 1281 15 10 75 BO 10,5 58 8,5 3l5 M12x1.75 18,2 100 M1 O x 1,5 8 7 23,6- 39.4 2,5 70 A C· TE 1,225 
RH8188AC1 STE 1" x 17 m\m 1681 12 10 75 BO 10,5 58 8,5 3l5 M12x1.75 17 l 100 M1 O x 1,5 8 7 23,25 -39 l5 2,5 70 A C· TE 1 ,5 

RHB 277 

NEVVTON 
PASSO CATENA DENTI 

CHAIN PITCH TEETH COD A 8 ± 1 c± 1 D E F G H l L N o p± 1 Q R T Kg M PASO DE LA CADENA DIENTES MIN MAX PAS DE LA CHAiNE DENTS 
RH8277 AC38S 318" x 7/32" 0681 21 12 102 110 15 78 10,5 4.75 M12x1.75 18,2 130 M12 x1.75 8 7 30,6 -64.4 2,5 90 AC 2,016 
RHB277 AC38D 318" x 7/32" 0682 21 12 102 110 15 78 10,5 4.75 M10x1,5 18 130 M12 x1.75 6,5 6 29-67 2 90 AC 2,12 
RHB277 AC12S 112" x 5/16" 0881 16 12 102 110 15 78 10,5 4.75 M12x1.75 18,2 130 M12 x1.75 8 7 30,6 -64.4 2,5 90 AC 2,04 
RHB277 AC12D 112" x 5/16" 0882 16 12 102 110 15 78 10,5 4.75 M10x1,5 18 130 M12 x1.75 6,5 6 29-67 2 90 AC 2,195 
RHB277 AC58S 518" x 318" 1081 17 12 102 110 15 78 1 o ,5 4.75 M12x1.75 18,2 130 M12 x1l5 8 7 30,6 -64.4 2,5 90 AC 2,235 
RH8277 AC58D BO 1200 518"x318" 1082 17 12 102 110 15 78 10,5 4.75 M12x1.75 20 130 M12 x1.75 8 7 31,5 -63,5 2,5 90 AC 2.721 
RHB277 AC34S 3/4" x 7/16" 1281 15 12 102 110 15 78 10,5 4.75 M12x1.75 18,2 130 M12 x1.75 8 7 30,6 -64.4 2,5 90 AC 2,34 
RHB277 AC34D 3/4" x 7/16" 1282 15 12 102 110 15 78 10,5 4.75 M12x1.75 24 130 M12 x1.75 8 7 33,5- 61,5 2,5 90 AC 2,968 
RH8277AC1S 1" x 17 m\m 1681 12 12 102 110 15 78 10,5 4.75 M12x1.75 17.7 130 M12 x 1.75 8 7 30,25 -64 .75 2,5 90 AC 2,619 
RH8277 AC114S 1"1 /4 x3/4" 2081 9 12 102 110 15 78 10,5 4.75 M12x1.75 17.7 130 M12 x1.75 8 7 30,25 -64.75 2,5 90 AC 2,583 
RHB277 AC112S 1"112x1" 2481 9 12 102 110 15 78 10,5 4.75 M12x1.75 17 l 130 M12x1.75 8 7 30,25- 64.75 2,5 90 AC 3,138 
RHB277 AC134S 1"3/4 x 1"1/4 2881 9 12 102 110 15 78 10,5 4.75 M12x1.75 17 l 130 M12 x1.75 8 7 30,25 -64.75 2,5 90 AC 4,123 

' 
+ TE:DENTI TEMPRATI-HARDENED TEETH-DENTS TREMPEES-DIENTES TEMPLADOS 

RHB277 AC38STE 318" x 7/32" 0681 21 12 102 110 15 78 10,5 4.75 M12x1l5 18,2 130 M12 x 1.75 8 7 30,6- 64.4 2,5 90 A C· TE 2,016 
RHB277 AC12STE 112" x 5/16" 0881 16 12 102 110 15 78 10,5 4.75 M12x1.75 18,2 130 M12 x 1.75 8 7 30,6- 64.4 2,5 90 A C· TE 2,04 
RHB277 AC58STE BO 1200 518"x318" 1081 17 12 102 110 15 78 10,5 4.75 M12x1l5 18,2 130 M12 x1.75 8 7 30,6- 64.4 2,5 90 A C· TE 2.235 
RHB277 AC34STE 3/4" x 7/16" 1281 15 12 102 110 15 78 10,5 4.75 M12x1.75 18,2 130 M12 x 1.75 8 7 30,6- 64.4 2,5 90 A C· TE 2,34 
RHB277 AC1 STE 1" x 17 m\m 1681 12 12 102 110 15 78 10,5 4.75 M12x1.75 17.7 130 M12 x1.75 8 7 30,25- 64.75 2,5 90 A C· TE 2,619 

COD 
NEWroN I----"~~;-:-­

MIN MAX I--"::':~~ :::-'-

111 

A B±l C±l D E F G H I L M N O P ± 1 Q R T Kg 

RHB'-'-ll:":';l R=S"=-12--1 10 120 1/2' x 5/16' ooBl 15 8 
---";......0."';;"'.0...;.;.:;;..0.;;;;.0;;.. 

6 35 
6 35 

9 80 
9 80 

6 
6 

2 
2 45 RS 

NEwrON I-----::C:::~""~=TCH:::-- --==='-1 
f----'---+-:-:PA7:SO"7.DE:-:-LA:-:C"'"'ADE""NA-:- ::C:UII=':~ =,g:-=1~ A B ± 1 C ± 1 D E F G 

MIN MAX f---::-,-::-:-:c-.,....".". -=- --:-
COD Q R T Kg H I L M N O p 

x 1 -
RHBl55AC38D 3/8' x 7 m' 0682 21 8 61 66 45 18 100 23 -30 55 
RHBl55RS12 

30 280 
1/2' x 5116' ooBl 15 8 61 66 45 9 100 55 RS 

RHBl55AC12D 1/2' x 5116' 0082 16 8 61 66 45 18 100 55 AC 
x 

RHBl55RS34 3/4' x 7116' 12Bl 15 8 61 8 45 1, 12 100 8 7 55 

NEwrON 
PASSO CATENA 

C~ 
COD A B ± 1 C ± 1 D E F G H I L M N O P ± 1 Q R T Kg 

PASO DE LA CADENA I MIN MAX 
PAS DE LA DENTS 

RHB100AC38S 3/8' x 7 m' 21 75 80 M12xl 100 8 7 70 AC 
x Ml , xl, 

RHB100AC12S 1/2' x 5116' ooBl 16 10 75 80 58 M12xl 100 Ml0 x 1 7 70 AC 
RHB100AC12D 1/2' x 5116' 0082 16 10 75 80 58 Ml0xl 100 Ml0 xl, 6 22 -42 2 70 AC 
RHB100AC58S 

50 500 
5/8' x3/8' 10Bl 17 10 75 80 58 M12xl 100 Ml0 x 1 7 70 AC 

17 7 x 
RHB100AC34S 3/4' x 7116' 12Bl 15 10 75 80 58 100 7 70 AC 
RHB100AC34D 3/4' x 7/16' 1282 15 10 75 80 58 M12xl 100 Ml0 x 1 7 70 AC 
RHB100AC1S 1"x17mlm 16Bl 12 10 75 80 58 M12xl 100 Ml0 x 1 7 70 AC 

1'1/4 x 7 
-• TE:DENTI TEMPRATI-HARDENED TEETH-DENTS TREMPEES-DIENTES TEMPlADOS 

RHB100AC38STE 3/8' x 7m' O6Bl 21 10 75 80 58 M12xl 100 Ml0 x 1 8 7 70 
RHB100AC12STE 1/2' x 5116' ooBl ---"16::--~10--t-'7=-5-+-::80-:- 58 =-+=-,,0.- M12xl '=-t-~-'-'loo':- Ml0 x 1 8 7 70 

-==.+-==--+-=' 
~~~~ 50 500 x 3!8' 10Bl ----'C17:--t--'1~0 t-:::75+::=- -:.:c::+--=58~:--t-?:::- -'7.-:"'-::::+'7.~::=- .:.::.Ml:.::-0 "cx 1,,:+--::-8 +.7:- ---=~ ~~1-7~0~~~= 

NEwrON I-----::C:::~""~=TCH:::-- --==='-1 
f----'---+-:-:PA7:SO"7.DE:-:-LA:-:CC"":ADE""NA-:- ::C:UII=':~ =,g:-=1~ A B ± 1 C ± 1 D E F G 

MIN MAX f---::-,-::-:-:c-.,....".". -=- --:-
COD N O P ± 1 Q R T Kg H I L M 

RH8277 AC38D 
RH8277 AC12S 
RH8277 AC12D:---l 

RH8277 AC58D 
RH8277 AC34S 
RH8277 AC34D=----j 

80 1200 

x 1 
3/B'x7m' 0682 21 12 102 110 15 78 Ml0xl, 18 130 29-67 2 90 
1/2' x 5116' ooBl 16 12 102 110 --:17-5 +-=78:-+-:-:-7+~ -:-:M-:712x",-1-='=+"'"'1 8"'=", +-'-=1307- """~=+--': =---= "'-+-""-+-790-:- ....;,A;.;..C -+-::= 

1/2' x 5116' 0082 ----.;16:--+--;:12 102 110 15 78 Ml0xl t-:-:=18 130 ~~~'=I-===-+--':- --::: 90 AC 
x 1 

5/8' x 3!8' 1082 17 12 102 110 15 78 M12xl 130 8 90 
3/4' x 7/16' 12Bl 15 12 102 110 --:17-5 +-=78:-+-:-:-7+~ M12xl '=-t-:7:-t-::130':- ""7-'-c-'==+--:8:--+--::--: :-+-~-79O=- AC 
3/4' x 7/16' 1282 15 12 102 110 15 78 M12xl '=-t-7'=-+-'-'130':- ""7-'-c-'==+---'8:--+-':- ~;-7. 90 "";'A;';"C-+-== 
l"x mlm 1 

RHB277ACl14S 1'1/4 x 3/4' 20Bl 9 12 102 110 15 78 M12xl 130 8 7 90 
RHB277AC112S 1'1/2 x l' 24Bl 9 12 102 110 --:17-5 +-=78:-+-:-:-7+~ M12xl '=-t-:::'=-+-::130':- ""7-'-c-'==+--:8:--+-::7'-~~=+~+-79O:- ....;,A;.;.C--!-",:..:7 

.;.;;RH.;.;:;B2:;.77;.;.;A:;.;Cl:;.;34.:,.S ....L...---L._1...,;1...;:;·3/...;.,4 x;;..;1....;;· 1 /~4 ...;:;28:;.:.;..Bl 9 12 102 110 15 78 130 ~'-"':':+---7-8 + 7:- ..;;;::;;......;;.; ~':'::""L...9O:;.;;....r....;A,;.;;C...I...,; = 

RH8277 AC12STE 
RH8277 AC58STE 
RH8277 AC34STE 

x 
1/2' x 5116' ooBl 

80 1200 5/8' x 3!8' 10Bl 
3/4' x 7/16' 1281 

-• TE:DENTI TEMPRATI-HARDENED TEETH-DENTS TREMPEES-DIENTES TEMPlADOS 

16 
17 
15 

1 7 

12 102 110 15 78 :-t-:':,o.- --,-:-:::';"-=~:-+-:-,130,:- ""7-'-c-,==+---,8:--+-::7_ --= :-7- -+~+-=9O:--f:--:-'::':+-::" 
12 102 110 15 78 .::.:M.:;:12x",-1 ,=+~+-:-:130=- "",::",::"",,=+---,8:--+-,7_ --'~ =--= "'-+-=-,=-+--,-,9O:--f:--:-'::':+== 
12 102 110 --:175 +-:::78:-+.-:,:+-,-,:::- M12xl 3c-?:-t-:.:130::=- :7.~9--::-8 +.7;- -= ;-7.~~~9Ot~=+-:=: 

1 7 

Fisatech s.r.o., Hlavná 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk



B 

ET ODO 
ET HOD 

, 

RH C m\m 
111 22 
155 30 
188 37 
277 53 

Per tutti \o testa in polietilene ... 
-----------

Allentare 
Ruotare C) fino a raggiungere la tensione desiderata. 

-----

Serrare 
-------------------

Liberare corpo B. 

Forali RH tensioners~ also with pulleys or with polyethylene heads ...... --------------
Loosen the bolt A. 
Rotate the body B ( with adjustable spanner or fix key or a pliers C) as much as t o get the right tension. 
Tighten the bok A without release the body B. 
Release the body B. 

Para todos los tensores tipo tambien poleas cabeza polietileno 
Aflojar 

-----

Hacer 
Fijar 
Desembragar 

Pour 
Desserrer 
Pivoter 
Serrer 
Débloquer le corps B. 

METODO 
METHOD 

, 

RH C m\m 
111 22 
155 30 
188 37 
277 53 

Per o testa in polietilene ... 
Allentare 
Ruotare C) fino a 
Serrare 
Liberare corpo B. 

For ali RH tensioners, also with pulleys or with po~ethylene heads ...... 
Loosen the bok A. 

la tensione desiderata. 

Rotate the body B ( with adjustable spanner, or fix key or a pliers C) as much as to get the right tension. 
Tighten the bok A without release the body B. 
Release the body B. 

Para todos los tensores tipo RH tambien poleas cabeza polietileno 
Aflojar 
Hacer 
Fijar 
Desembragar 

Pour 
Desserrer 
Pivoter 
Serrer 
Débloquer le corps B. 

Fisatech s.r.o., Hlavná 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk




